Roll No. 245128585

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3859

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VAIBHAV SHARMA

Father's Name : MUKESH Mother's Name : UMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	64 28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	60 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0596		0700			25.0	242.0
	GRAND TOTAL	0596		0700			25.0	242.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.68

Criccica by		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128586

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3860

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MADHU BALA YADAV
Father's Name : MAHAVIR SINGH
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	AB	AB	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	28	12	*	40AG	100	Р	4	04.0	16.0
3	MCA-20-13 OPERATING SYSTEMS	28	12		40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	22	10	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	AB	AB	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		**	**		0700			25.0	032.0
									12.0	32.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17

		(Clerk	()	(Assistant))
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 26,20)25			

Data of issue

Banne

Roll No. 245128587

RESULT-cum-DETAILED MARKS CARD

24-DEO-3861 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : GAURAV

: RAMESH SINGH Father's Name : RAJKUMARI TANWAR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53	23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60	26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	38	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	206.5
								25.0	206.5

MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128588

RESULT-cum-DETAILED MARKS CARD

24-DEO-3862 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : KARAN

: SUNIL KUMAR Father's Name

: KAMLA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50	22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	53	23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59	26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	42	18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75		40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62	21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	АВ	F	20AG	050	F	0		0
	TOTAL		0529		0700			25.0	219.5
	GRAND TOTAL		0529		0700			25.0	219.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128589

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3863

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MOHIT GARG
Father's Name : NARESH GARG
Mother's Name : ANJANA GARG

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0561		0700			25.0	230.0
	GRAND TOTAL	0561		0700			25.0	230.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128590

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3864

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : THULLURU SUCHITRA
Father's Name : THULLURU KESAVULU
Mother's Name : THULLURU MADHAVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	37 16	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	36 16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	30 13	40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	35 15	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	36 16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	О	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	42 14	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0416		0700			25.0	163.5
	GRAND TOTAL	0416		0700			25.0	163.5

RESULT: PASSED AND HAS OBTAINED: SGPA 6.54

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245128591

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3865

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MARY DOMINCA
Father's Name : UTHRI DAS
Mother's Name : RITA DAS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0552		0700			25.0	221.0
	GRAND TOTAL	0552		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

		(Clerk)		(Assistant)	
Checked by	1		_ 2		
KURUKSHET	ERA				
DATED :	JUN 26,2025	i			



Roll No. 245128592

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3866

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : CHANDAN LALBABU GUPTA

Father's Name : LALBABU Mother's Name : SITADEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 2	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 2	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	58 2	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 2	26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 2	25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	67		40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78		40AG	100	A+	9	02.5	22.5
	TOTAL		0558		0700			25.0	226.5
	GRAND TOTAL		0558		0700			25.0	226.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.06

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128593

RESULT-cum-DETAILED MARKS CARD

24-DEO-3867 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : THORAT TEJASHREE MAHADEV

: MAHADEV Father's Name : VASUDHA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	43 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0523		0700			25.0	213.0
	GRAND TOTAL	0523		0700			25.0	213.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.52

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128594

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3868

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BHASKAR JYOTI DAS Father's Name : LATE THANESWAR DAS

Mother's Name : RUNU DAS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 1	8	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	41 1	8	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	41 1	8	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 2	2	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 1	7	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	166.5
								22.0	166.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-17

DATED : JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (A

(Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128595

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3869

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUMIT
Father's Name : SATBIR
Mother's Name : NEELAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	38 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
	TOTAL	0514		0700			25.0	211.5
	GRAND TOTAL	0514		0700			25.0	211.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.46

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128596

RESULT-cum-DETAILED MARKS CARD

24-DEO-3870 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : REEMA KUMARI

: GET RAM Father's Name

: PHULU SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	32 14		40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	43 19		40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	48 21		40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	38 17		40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44 19		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	67		40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68		40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	48 17		40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL	0430)		0700			25.0	176.0
	GRAND TOTAL	0430	l		0700			25.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.04

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128597

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3871

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANKUSH PAL
Father's Name : BALINDER KUMAR
Mother's Name : KAMLESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	32	14	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	41	18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43	19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49	21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	28	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	36	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	144.0
								25.0	144.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128598

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3872

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KULDEEP SINGH TOMAR
Father's Name : MAHESH PRATAP SINGH

Mother's Name : MAYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	AB	AB	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	AB	AB	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	AB	AB	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	AB	AB	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	AB	AB	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	45			40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	AB	13	F	40AG	100	F	0		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50			20AG	050	0	10		0
	TOTAL		*	**		0700			25.0	012.5
									2.0	12.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15 MCA-20-17

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128599

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3873

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ABHISHEK LODHI
Father's Name : RAJESH LODHI
Mother's Name : RAM SINGH LODHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks C	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 2	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 2	26	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 2	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 2	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 2	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79		40AG	100	A+	9	02.5	22.5
	TOTAL		0564		0700			25.0	229.0
	GRAND TOTAL		0564		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128600

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3874

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHYAM RAJPUT

Father's Name : SUNIL Mother's Name : DARSHNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	45 20	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	42 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	55	40AG	100	B+	7	02.5	17.5
	TOTAL	0476		0700			25.0	200.0
	GRAND TOTAL	0476		0700			25.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128601

RESULT-cum-DETAILED MARKS CARD

24-DEO-3875 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SANGAM KUMAR

: UPENDRA PRASAD SHARMA Father's Name

: SAROJ SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	45 20	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	38 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	50	40AG	100	В	6	02.5	15.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	51 18	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	34	20AG	050	А	8		0
	TOTAL	0433		0700			25.0	184.0
	GRAND TOTAL	0433		0700			25.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.36

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1. (Clerk)

(Assistant)



Roll No. 245128602

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3876

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NADIMPALLI DEEPAK VARMA
Father's Name : NADIMPALLI V S N RAJU
Mother's Name : NADIMPALLI RAJANI KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62	27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	60	20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50		20AG	050	0	10		0
	TOTAL		***		0700			25.0	184.0
		NACA 00						20.0	184.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHE	ΓERA				
DATED :	JUN 26,202	25			

Data of issue

Banne

Roll No. 245128603

RESULT-cum-DETAILED MARKS CARD

24-DEO-3877 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PRASHANT KAUSHALKUMAR GAUTAM

: KAUSHALKUMAR Father's Name

: USHA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	Α	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	63	40AG	100	B+	7	02.5	17.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0547		0700			25.0	222.5
	GRAND TOTAL	0547		0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128604

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3878

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANISH
Father's Name : ANUJ
Mother's Name : KAVITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	65 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0580		0700			25.0	231.5
	GRAND TOTAL	0580		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128605

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3879

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SANJAY KUMAR
Father's Name : KANWAR BHAN
Mother's Name : SHEELA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	45 20	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	56 19	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0493		0700			25.0	206.5
	GRAND TOTAL	0493		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128606

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3880

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VANSHIKA VERMA Father's Name : LATE MANOJ KUMAR

Mother's Name : BABITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	60 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0579		0700			25.0	233.0
	GRAND TOTAL	0579		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2	2025		
KURUKSHET	ERA			
Checked by	1.		2.	

Barre

(Clerk) (Assistant) CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245128607

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3881

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MAMTA KUMARI
Father's Name : BAIDHNATH YADAV
Mother's Name : VIMALA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	28	12	*	40AG	100	Р	4	04.0	16.0
2	MCA-20-12 DATA STRUCTURES USING C++	50	22		40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	32	14		40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	28	12	*	40AG	100	Р	4	04.0	16.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	42	18		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	71			40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	66			40AG	100	A	8	02.5	20.0
	TOTAL		0395			0700			25.0	152.0
	GRAND TOTAL		0395			0700			25.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.08

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128608

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3882

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATVIK AGARWAL
Father's Name : PRADEEP AGARWAL
Mother's Name : RASHMI AGARWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	41 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0500		0700			25.0	199.5
	GRAND TOTAL	0500		0700			25.0	199.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.98

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128609

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3883

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRIYANKA
Father's Name : UMED SINGH
Mother's Name : KAVITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	62 27	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0570		0700			25.0	233.0
	GRAND TOTAL	0570		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128611

RESULT-cum-DETAILED MARKS CARD

24-DEO-3885 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SNEHA KUMARI

: RABINDRA KUMAR VERMA Father's Name

: BABITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	36	16		40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	31	14		40AG	100	С	5	04.0	20.0
3	MCA-20-13 OPERATING SYSTEMS	28	12	*	40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	18	8	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	24	11	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84			40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81			40AG	100	A+	9	02.5	22.5
	TOTAL		**	**		0700			25.0	105.0
									25.0	105.0

MCA-20-14 MCA-20-15 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128612

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3886

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : VISHAL VERMA
Father's Name : SANJEEV KUMAR
Mother's Name : ASHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0583		0700			25.0	229.0
	GRAND TOTAL	0583		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128614

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3888

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ENA SAINI

Father's Name : RAGHUBIR SINGH Mother's Name : SAROJ BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
	TOTAL	0564		0700			25.0	232.0
	GRAND TOTAL	0564		0700			25.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.28

		(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

|--|

Roll No. 245128615

RESULT-cum-DETAILED MARKS CARD

24-DEO-3889 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAHUL

: HARI SHANKAR Father's Name : SUNITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	31	14		40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	15	7	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	29	11	*	40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51	22		40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	43	19		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75			40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68			40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	61	21		40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48			20AG	050	0	10		0
	TOTAL		*	***		0700			25.0	138.5
									25.0	138.5

MCA-20-12 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128616

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3890

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHIVENDU VATS

Father's Name : KALU RAM Mother's Name : SUDESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0565		0700			25.0	227.5
	GRAND TOTAL	0565		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Banne

Roll No. 245128617

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3891

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RISHIKESH KUMAR PATHAK
Father's Name : ASHOK KUMAR PATHAK

Mother's Name : BHARTI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	48 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	43 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	72	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	63	40AG	100	B+	7	02.5	17.5
	TOTAL	0459		0700			25.0	189.5
	GRAND TOTAL	0459		0700			25.0	189.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.58

		(CI	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Bound

CONTROLLER OF	EXAMINATIONS
---------------	--------------

Data of issue _____

Roll No. 245128618

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3892

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPAK DEEPAK

Father's Name : RAJESH Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	36	16		40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	36	16		40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	29	11	*	40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	34	15		40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	29	13		40AG	100	С	5	04.0	20.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73			40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72			40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	36	13		40AG	100	С	5		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50			20AG	050	0	10		0
	TOTAL		0380			0700			25.0	144.0
	GRAND TOTAL		0380			0700			25.0	144.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.76

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128619

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3893

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRAKEET SINGH
Father's Name : SARABJEET SINGH
Mother's Name : GURINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0558		0700			25.0	229.0
	GRAND TOTAL	0558		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128620

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3894

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPAK

Father's Name : SATISH KUMAR Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0566		0700			25.0	233.0
	GRAND TOTAL	0566		0700			25.0	233.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1.	2

(Clerk)

Banne

CONTROLLER	OF	EXAMINATIONS
------------	----	---------------------

Data of issue _____

Roll No. 245128621

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3895

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ARVIND KUMAR
Father's Name : GHASITA SINGH
Mother's Name : OMVATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0527		0700			25.0	213.0
	GRAND TOTAL	0527		0700			25.0	213.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.52

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128622

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3896

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : VANSHITA SHARMA Father's Name : PAWAN SHARMA

Mother's Name : URMILA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	67	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
	TOTAL	0557		0700			25.0	225.0
	GRAND TOTAL	0557		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant))
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

CONTROL		VITUNIC

Roll No. 245128623

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3897

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANOJ

Father's Name : JAI BHAGWAN Mother's Name : LAJWANTI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	61 27	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	44	20AG	050	0	10		0
	TOTAL	0545		0700			25.0	222.5
	GRAND TOTAL	0545		0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128624

RESULT-cum-DETAILED MARKS CARD

24-DEO-3898 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : KUNAL KISHOR

: K KISHOR Father's Name

: SAROJ KISHOR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	70	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64	40AG	100	B+	7	02.5	17.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	58 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0500		0700			25.0	209.5
	GRAND TOTAL	0500		0700			25.0	209.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.38

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128625

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3899

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BIPLOB SUKHAMOY CHAKRABORTY

Father's Name : SUKHAMOY CHAKRABORTY
Mother's Name : APARNA CHAKRABORTY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	38 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	36 16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	35 15	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	33 15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	33 12	40AG	100	С	5		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0398		0700			25.0	164.0
	GRAND TOTAL	0398		0700			25.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.56

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

Roll No. 245128626

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3900

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HUNNY SAINI Father's Name : DAVINDER SAINI

Mother's Name : DIPTI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0569		0700			25.0	231.5
	GRAND TOTAL	0569		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED : JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128627

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3901

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : UMARDAND AMRUTA PRAMOD

Father's Name : PRAMOD Mother's Name : ROHINI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	58 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0550		0700			25.0	223.5
	GRAND TOTAL	0550		0700			25.0	223.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.94

,	_	(Cle	 rk)	(4	Assistant)
Checked by	1.		2	2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128628

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3902

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ARYAN CHOUDHARY
Father's Name : MANOJ KUMAR

Mother's Name : RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0553		0700			25.0	219.5
	GRAND TOTAL	0553		0700			25.0	219.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

		(CI	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245128629

RESULT-cum-DETAILED MARKS CARD

24-DEO-3903 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MD AQUIB RAHMAT : RAHAMATULLAH ANSARI Father's Name

: ZARINA KHATUN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46	20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57	25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	43	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	45	20	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48	21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	20	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	21	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	160.0
								25.0	160.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128630

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3904

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATNAM SINGH
Father's Name : SEWA SINGH
Mother's Name : SURINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	39 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	28 12	40AG	100	P	4	04.0	16.0
3	MCA-20-13 OPERATING SYSTEMS	30 13	40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	31 14	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	41 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	67	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	66	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	49 17	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	32	20AG	050	B+	7		0
	TOTAL	0376		0700			25.0	152.0
	GRAND TOTAL	0376		0700			25.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.08

DATED: JUN 26,2	2025		
KURUKSHETERA			
Checked by 1.		2.	

Data of issue

(Clerk) (Assistant)

Ranne

Roll No. 245128631

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3905

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 $(\mathsf{CBCS\text{-}CDOE})$

Name : MOHIT SHARMA
Father's Name : SHYAM LAL SHARMA
Mother's Name : ASHA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52	23		40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61	27		40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52	23		40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	10	5 I	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52	23		40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79			40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	90			40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	43	15		40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48			20AG	050	0	10		0
	TOTAL		***			0700			25.0	195.5
									25.0	195.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-14

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128632

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3906

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANAND SHUKLA

Father's Name : VINOD KUMAR SHUKLA Mother's Name : VANDANA SHUKLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0541		0700			25.0	217.0
	GRAND TOTAL	0541		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128633

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3907

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AVIRUP BHATTACHARYA

Father's Name : RABINDRANATH BHATTACHARYA

Mother's Name : BASANTI BHATTACHARYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0571		0700			25.0	227.5
	GRAND TOTAL	0571		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

CONTROL		VITUNIC

Roll No. 245128634

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3908

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPIKA PANDEY
Father's Name : MATHURA DUTT
Mother's Name : SHANTI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64	28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57	25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73		40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74		40AG	100	А	8	02.5	20.0
	TOTAL		0565		0700			25.0	228.0
	GRAND TOTAL		0565		0700			25.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.12

DATED:	JUN 26,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128636

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3910

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NANCY

Father's Name : KANWAR PAL Mother's Name : PUSHPA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0590		0700			25.0	235.5
	GRAND TOTAL	0590		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk) 2. (Assistant)

Banus

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245128637

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3911

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAHUL BISWAL
Father's Name : B B BISWAL
Mother's Name : JANKI BISWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0572		0700			25.0	229.0
	GRAND TOTAL	0572		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128638

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3912

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PULKIT
Father's Name : DEVENDRA
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	43 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	31 14	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	33 15	40AG	100	С	5	04.0	20.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	A	8	02.5	20.0
	TOTAL	0437		0700			25.0	174.5
	GRAND TOTAL	0437		0700			25.0	174.5

RESULT: PASSED AND HAS OBTAINED: SGPA 6.98

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2.	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128639

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3913

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : OM PRAKASH
Father's Name : SHYAM LAL
Mother's Name : DAYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	56	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59	26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	65	28	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	31	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	26	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62	21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48		20AG	050	0	10		0
	TOTAL		***		0700			25.0	188.0
								25.0	188.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

Criccica by		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128640

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3914

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ASHISH ASHISH
Father's Name : PAWAN SHARMA
Mother's Name : BABITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	65 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	41	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0532		0700			25.0	221.5
	GRAND TOTAL	0532		0700			25.0	221.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.86

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245128641

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3915

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AKASH Father's Name : OMPAL

Mother's Name : BABITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	32 14	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	41 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	35 15	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	35 15	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	28 12 *	40AG	100	Р	4	04.0	16.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	42	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	43	40AG	100	С	5	02.5	12.5
	TOTAL	0330		0700			25.0	137.0
	GRAND TOTAL	0330		0700			25.0	137.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.48

		(Cler	k)	(Assist	tant)
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	025			

Banne

Data of issue _____

Roll No. 245128642

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3916

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PANKAJ KUMAR MITTAL

Father's Name : MUKESH MITTAL Mother's Name : SARLA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	42 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	A	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62 21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0498		0700			25.0	202.5
	GRAND TOTAL	0498		0700			25.0	202.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.10

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128643

RESULT-cum-DETAILED MARKS CARD

24-DEO-3917 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : NAMAN GUPTA

: DEEPAK KUMAR GUPTA Father's Name

: SANJU GUPTA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	65 28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0576		0700			25.0	235.5
	GRAND TOTAL	0576		0700			25.0	235.5

PASSED AND HAS OBTAINED: SGPA 9.42 RESULT:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128644

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3918

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MADDINENI MADHU
Father's Name : M KRISHNAMA NAIDU

Mother's Name : M LATHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	63 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0577		0700			25.0	235.5
	GRAND TOTAL	0577		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

		(Cle	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER OF EXAM	11NA LIONS
--------------------	------------

Roll No. 245128645

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3919

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMIT
Father's Name : JAGDISH
Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	tained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25		40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27		40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25		40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27		40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24		40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86		40AG	100	0	10	02.5	25.0
	TOTAL	1	0588		0700			25.0	235.5
	GRAND TOTAL	(0588		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128646

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3920

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAJIB MAJUMDER

Father's Name : NALINI KANTA MAJUMDER
Mother's Name : SHIBANI ROY CHOWDHURY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	AB	AB	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	AB	AB	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	45	20		40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	AB	AB	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	AB	AB	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		**	*		0700			25.0	032.0
									4.0	32.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-12 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128647

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3921

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANJU BALA

Father's Name : SANDEEP KUMAR Mother's Name : KRISHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0595		0700			25.0	235.5
	GRAND TOTAL	0595		0700			25.0	235.5

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED :	JUN 26,2025	
KURUKSHET	ERA	
Chacked by	1	2

Banne

CONTROLLER OF EXAMINATION

Data of issue

(Clerk)

Roll No. 245128648

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3922

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ABHISHEK
Father's Name : SUNIL TIWAR
Mother's Name : REENA TIWARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	90	40AG	100	0	10	02.5	25.0
	TOTAL	0600		0700			25.0	246.0
	GRAND TOTAL	0600		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128649

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3923

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PALLAVI KUMARI
Father's Name : ARUN KUMAR SINGH

Mother's Name : DEZY DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0600		0700			25.0	243.5
	GRAND TOTAL	0600		0700			25.0	243.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.74

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128650

RESULT-cum-DETAILED MARKS CARD

24-DEO-3924 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : NAVEEN AHUJA

: NARESH KUMAR AHUJA Father's Name

: SARLA AHUJA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	29	11	*	40AG	100	Р	4	04.0	16.0
2	MCA-20-12 DATA STRUCTURES USING C++	10	5	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	28	12		40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	04	2	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	22	10	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		*	**		0700			25.0	032.0
									20.0	32.0

MCA-20-12 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

DATED:	JUN 26,2025	
KIIBIIKSHE.	TERΔ	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128651

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3925

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AKHILESH
Father's Name : VIJAY KUMAR
Mother's Name : ANJU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61	27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59	26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	192.0
								20.0	192.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 26,202	5			

Data of issue

Bann

CONTROLLER OF EXAM	11NA LIONS
--------------------	------------

Roll No. 245128652

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3926

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KAMAL KUMAR RANA

Father's Name : NAKUL RANA Mother's Name : CHANDANA RANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	65 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	65 28	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	О	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0618		0700			25.0	246.0
	GRAND TOTAL	0618		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128653

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3927

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ABHAY SAHANI
Father's Name : BHIRGU SAHANI
Mother's Name : ANITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	71	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
	TOTAL	05	546	0700			25.0	222.5
	GRAND TOTAL	05	46	0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

		(Clerk)		(Assistant)
Checked by	1		_ 2	
KURUKSHET	ERA			
DATED :	JUN 26,2025			

Data of issue

Bann

Roll No. 245128654

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3928

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : YOGESH
Father's Name : RAJ KUMAR
Mother's Name : INDRO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48	21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	35	15	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	41	18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47	21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	152.0
								20.0	152.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		((lerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Data of issue

Banne

CONTROL		VITUNIC

Roll No. 245128655

RESULT-cum-DETAILED MARKS CARD

24-DEO-3929 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ARSHDEEP

: SAMUNDER SINGH Father's Name : PARKAS KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41	18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50	22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46	20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	68		40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	23	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	184.0
								25.0	184.0

MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128656

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3930

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DR SHAHIR VK
Father's Name : MOIDY VK
Mother's Name : HALEEMA MK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	63	40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	66	40AG	100	A	8	02.5	20.0
	TOTAL	0530		0700			25.0	221.5
	GRAND TOTAL	0530		0700			25.0	221.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.86

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245128657

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3931

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARDEEP SINGH
Father's Name : GURDEV SINGH
Mother's Name : SURESH RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
	TOTAL	0502		0700			25.0	206.5
	GRAND TOTAL	0502		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128658

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3932

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANKIT SHARMA
Father's Name : KRISHAN KUMAR
Mother's Name : ANITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0528		0700			25.0	217.0
	GRAND TOTAL	0528		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128659

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3933

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHALINI
Father's Name : SUBHASH
Mother's Name : MANJU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50	22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48	21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	33	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	197.0
								25.0	197.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-17

		((Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245128660

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3934

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAVIN BAJRANG YEWALE

Father's Name : BAJRANG Mother's Name : YASHODA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	37	16	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 2	22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	45 2	20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 2	23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 2	22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	41		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	51		40AG	100	В	6	02.5	15.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	55	19	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0430		0700			25.0	183.5
	GRAND TOTAL		0430		0700			25.0	183.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.34

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Data of issue _____

Roll No. 245128661

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3935

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : JITESH KUMAR
Father's Name : BIJENDER KUMAR
Mother's Name : SUMAN KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0537		0700			25.0	221.0
	GRAND TOTAL	0537		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2	2025								
KURUKSHETERA										
Checked by	1.			2.						
			(Clerk)		(Assistant)					



Roll No. 245128662

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3936

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : JAISHRI SOM
Father's Name : ARUN KUMAR
Mother's Name : RAMA SOAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	25	11	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	39	17		40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	32	14		40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	35	15		40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	19	9	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	38		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	26		F	40AG	100	F	0	02.5	0
	TOTAL		**	**		0700			25.0	072.0
									25.0	72.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-15 MCA-20-16 MCA-20-17

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

CONTROLLER OF EXAM	11NA LIONS
--------------------	------------

Roll No. 245128663

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3937

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KARTIK SHARMA
Father's Name : KULDEEP SHARMA
Mother's Name : REKHA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	59	26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64	28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62	27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	41		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	43		40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	71	24	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0519		0700			25.0	221.0
	GRAND TOTAL		0519		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2	025								
KURUKSHETERA										
Checked by	1.		2.							
		(Cler	k)	(Assistant)						



Roll No. 245128664

RESULT-cum-DETAILED MARKS CARD

24-DEO-3938 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ANKIT

: RAM KUMAR Father's Name : USHA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0571		0700			25.0	233.0
	GRAND TOTAL	0571		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED :	JUN 26,2025		
KURUKSHE	TERA		

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128666

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3940

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRIYA
Father's Name : SUKHBIR
Mother's Name : DARSHN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58	25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	АВ	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	180.0
								20.0	180.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	5			

Data of issue

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128667

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3941

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SWATI SINGH
Father's Name : DILIP SINGH
Mother's Name : RANJNA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	59 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	65 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	40	20AG	050	A+	9		0
	TOTAL	0586		0700			25.0	235.5
	GRAND TOTAL	0586		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

		(Clerk)		(Assistant)	
Checked by	1.		_ 2		_
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128668

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3942

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KHURANA SWATHI
Father's Name : KHURNA KASHMIRI LAL
Mother's Name : KHURANA RAJ RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	40 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0515		0700			25.0	209.0
	GRAND TOTAL	0515		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128669

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3943

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DINESH KUMAR

Father's Name : ROHTASH Mother's Name : KALAWATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	65 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
	TOTAL	0587		0700			25.0	235.5
	GRAND TOTAL	0587		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

		((lerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				



Roll No. 245128670

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3944

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PANDYA UTSAV NAYANKUMAR

Father's Name : NAYANKUMAR PANDYA Mother's Name : PARULBEN PANDYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	72	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	А	8	02.5	20.0
	TOTAL	0543		0700			25.0	224.0
	GRAND TOTAL	0543		0700			25.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.96

		((lerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Data of issue

CONTROLLER O	F EXAMINATIONS
--------------	----------------

Roll No. 245128671

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3945

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SURENDER SINGH
Father's Name : MANDEEP SINGH
Mother's Name : NEELAM DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
	TOTAL	0553		0700			25.0	225.0
	GRAND TOTAL	0553		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED :	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128672

RESULT-cum-DETAILED MARKS CARD

24-DEO-3946 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : CHIRAG TIWARI : DEEP CHAND TIWARI Father's Name

: JYOTI TIWARI

Mother's Name : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0556		0700			25.0	225.0
	GRAND TOTAL	0556		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Roll No. 245128673

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3947

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : HARSHIT YADAV

Father's Name : SHIV CHANDER YADAV

: GEETA YADAV

Mother's Name : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
	TOTAL	0555		0700			25.0	226.5
	GRAND TOTAL	0555		0700			25.0	226.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.06

		((lerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				



Roll No. 245128674

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3948

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUHANI
Father's Name : AJAY KUMAR
Mother's Name : MEENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
	TOTAL	0571		0700			25.0	230.5
	GRAND TOTAL	0571		0700			25.0	230.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.22

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128675

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3949

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RITESH KUMAR
Father's Name : SATYABIR SINGH
Mother's Name : KIROSTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
	TOTAL	0586		0700			25.0	235.5
	GRAND TOTAL	0586		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128676

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3950

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ASHA

Father's Name : SURESH KUMAR Mother's Name : KAVITA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	42 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	44	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	41	40AG	100	С	5	02.5	12.5
	TOTAL	0431		0700			25.0	185.0
	GRAND TOTAL	0431		0700			25.0	185.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

		(0	Clerk)		(A:	ssistant)	
Checked by	1.			2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					

Banne

|--|

Roll No. 245128677

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3951

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DILIP VISHWAKARMA

Father's Name : DEVI PRASAD Mother's Name : MADHURI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0583		0700			25.0	231.5
	GRAND TOTAL	0583		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,2	2025		
KURUKSHET	ERA			
Checked by	1.		2.	

Data of issue

(Clerk) (Assistant)

Ranne

Roll No. 245128678

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3952

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NITUMANI DAS
Father's Name : PABITRA DAS
Mother's Name : MALAYA DAS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	71 24	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0588		0700			25.0	235.5
	GRAND TOTAL	0588		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue

Roll No. 245128679

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3953

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEHA SHARMA

Father's Name : BHAJAN LAL SHARMA

Mother's Name : ASHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	60 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0586		0700			25.0	239.5
	GRAND TOTAL	0586		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128680

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3954

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KRISHAN KUMAR MORYA Father's Name : GANGA PRASAD MORYA

Mother's Name : TARA WATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	A	8	02.5	20.0
	TOTAL	0507		0700			25.0	208.0
	GRAND TOTAL	0507		0700			25.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.32

		(Cler	·k)	(Assistar	nt)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128681

RESULT-cum-DETAILED MARKS CARD

24-DEO-3955 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ANKIT VERMA

: PARAS NATH VERMA Father's Name

: KETAKI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	72	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	А	8	02.5	20.0
	TOTAL	0552		0700			25.0	232.0
	GRAND TOTAL	0552		0700			25.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.28

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128682

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3956

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAKESH KUMAR ROY
Father's Name : LATE SHIVE CHANDRA ROY

Mother's Name : MANJU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0579		0700			25.0	237.0
	GRAND TOTAL	0579		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

		(Cle	erk)		(Assistant)	
Checked by	1.		:	2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Data of issue _____

Roll No. 245128683

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3957

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARVEEN DAHIYA
Father's Name : JOGENDER DAHIYA
Mother's Name : SUSHEELA DAHIYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
	TOTAL	0508		0700			25.0	210.5
	GRAND TOTAL	0508		0700			25.0	210.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

CONTROL	I FR (JE EXA	ΔΙΛΤΜΔ	TIONS

Roll No. 245128684

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3958

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : UDAY BHASKAR REDDY K
Father's Name : PURNANANDA SWAMY K

Mother's Name : SUBHASHINI K

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	65 28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0583		0700			25.0	235.5
	GRAND TOTAL	0583		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

•			(Clark)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED :	JUN 26,	2025				

Data of issue

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128685

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3959

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TEJASH DHONGADE
Father's Name : SHAMRAO DHONGADE
Mother's Name : ARCHANA DHONGADE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0579		0700			25.0	231.5
	GRAND TOTAL	0579		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128686

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3960

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VINITA Father's Name : MANOJ Mother's Name : MANJU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	71	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
	TOTAL	0526		0700			25.0	216.0
	GRAND TOTAL	0526		0700			25.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.64

DATED:	JUN 26,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128687

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3961

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : HITESH MUJWANI Father's Name : MANOJ MUJWANI : BHAWNA MUJWANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	48 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	42 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	41 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	53 18	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0499		0700			25.0	202.0
	GRAND TOTAL	0499		0700			25.0	202.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.08

		(Clerk)		(Assistant))
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245128688

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3962

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRABIR BHATTACHARYA
Father's Name : SRIDHAR BHATTACHARYA
Mother's Name : KRISHNA BHATTACHARYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0571		0700			25.0	234.0
	GRAND TOTAL	0571		0700			25.0	234.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.36

DATED:	JUN 26,2	2025									
KURUKSHETERA											
Checked by	1.			2.							
			(Clerk)		(Assistant)						



Roll No. 245128689

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3963

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : CHAHAT
Father's Name : SUBASH
Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40	18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	44	19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	41	18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39	17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	41	18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	21	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	14	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	44	15	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	40		20AG	050	A+	9		0
	TOTAL		***		0700			25.0	140.0
								25.0	140.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2025	5		
KURUKSHET	ERA			
Checked by	1		_ 2.	
		(Clerk)		(Assistant)



Roll No. 245128690

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3964

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPAK
Father's Name : RAJESH
Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27		40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26		40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23		40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26		40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21		40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73		40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64		40AG	100	B+	7	02.5	17.5
	TOTAL	(0541		0700			25.0	225.5
	GRAND TOTAL	(0541		0700			25.0	225.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.02

DATED:	JUN 26,2	2025								
KURUKSHETERA										
Checked by	1.			2.						
		((Clerk)		(Assistant)					

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128691

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3965

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : LALIT SHARMA
Father's Name : SHIV NANDAN
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	43 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	39 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	42 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	36 16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	46 16	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0457		0700			25.0	182.5
	GRAND TOTAL	0457		0700			25.0	182.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.30

		((lerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Data of issue

Roll No. 245128692

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3966

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MADHAB SANTRA
Father's Name : NAKUL SANTRA
Mother's Name : SULOCHANA SANTRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	45	40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	60 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0492		0700			25.0	201.5
	GRAND TOTAL	0492		0700			25.0	201.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.06

DATED:	JUN 26,20)25								
KURUKSHETERA										
Checked by	1		2.							
		(Clerk)		(Assistant)						

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128693

RESULT-cum-DETAILED MARKS CARD

24-DEO-3967 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PARVEEN

: CHARAN SINGH Father's Name

: BALKESH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtair	ned Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	058	83	0700			25.0	235.5
	GRAND TOTAL	058	33	0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128694

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3968

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VIRENDRA KUMAR DWIVEDI Father's Name : JEETENDRA KUMAR DWIVEDI

Mother's Name : MANJU DWIVEDI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
	TOTAL	0569		0700			25.0	229.0
	GRAND TOTAL	0569		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHE	ΓERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMIN	NATIOI	พร
----------------------	--------	----

Data of issue _____

Roll No. 245128695

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3969

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHIVANI GARG
Father's Name : SURENDER KUMAR
Mother's Name : SALOCHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	42 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	38 17	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	43 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	70	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	50 17	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F 20AG	050	F	0		0
	TOTAL	0437		0700			25.0	184.0
	GRAND TOTAL	0437		0700			25.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.36

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Roll No. 245128696

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3970

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMRIT MINZ
Father's Name : PHILMON MINZ
Mother's Name : JULIANA MINZ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62 21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0558		0700			25.0	225.0
	GRAND TOTAL	0558		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128697

RESULT-cum-DETAILED MARKS CARD

24-DEO-3971 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : HARSHA SINGH

: GAYASHANKAR SINGH Father's Name

: RAMBHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	31	14	40AG	100	С	5	04.0	20.0
3	MCA-20-13 OPERATING SYSTEMS	05	3 F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59	26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63	27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	136.0
								20.0	136.0

MCA-20-13 MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128699

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3973

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ABDUL QUYOOM Father's Name : BASHIR AHMED Mother's Name : NASSIM AKHTER

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	37	16		40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	AB	AB	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	АВ	22	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	АВ	21	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	АВ	AB	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	АВ		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		**	**		0700			25.0	024.0
									12.0	24.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			2.	
		(Cl	erk)		(Assistant)



Roll No. 245128700

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3974

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SANDEEP YADAV
Father's Name : SUBEDAR YADAV
Mother's Name : MAHANTHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	05	524	0700			25.0	215.5
	GRAND TOTAL	05	524	0700			25.0	215.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.62

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128701

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3975

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GAURAV KUMAR Father's Name : GOVINDRA SINGH

Mother's Name : NILU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	О	10	02.5	25.0
	TOTAL	0584		0700			25.0	234.0
	GRAND TOTAL	0584		0700			25.0	234.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.36

		(Cler	·k)	(Assistant))
Checked by	1.		2.		
KURUKSHE	ΓERA				
DATED :	JUN 26,2	2025			

Banne

|--|

Roll No. 245128702

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3976

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ASHA PANWAR
Father's Name : SETHPAL PANWAR
Mother's Name : OMWATI PANWAR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68	40AG	100	A	8	02.5	20.0
	TOTAL	0533		0700			25.0	218.5
	GRAND TOTAL	0533		0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245128703

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3977

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : LAKESHWARI
Father's Name : GUNARAM
Mother's Name : SUMITRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	44 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	40 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	56 19	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0485		0700			25.0	193.0
	GRAND TOTAL	0485		0700			25.0	193.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.72

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128704

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3978

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHUBHAM KUMAR
Father's Name : SANJEEV KUMAR JHA
Mother's Name : SEEMA KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	37 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	72	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	52	40AG	100	В	6	02.5	15.0
	TOTAL	0475		0700			25.0	195.0
	GRAND TOTAL	0475		0700			25.0	195.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.80

		(0	Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245128705

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3979

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAKESH KUMAR CHOUDHARY
Father's Name : CHHOTU RAM CHOUDHARY
Mother's Name : URMILA CHOUDHARY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	74	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64	40AG	100	B+	7	02.5	17.5
	TOTAL	0509		0700			25.0	209.5
	GRAND TOTAL	0509		0700			25.0	209.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.38

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128706

RESULT-cum-DETAILED MARKS CARD

24-DEO-3980 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SONAM

: BALJIT SINGH Father's Name : SAROJ DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46 20	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0521		0700			25.0	213.0
	GRAND TOTAL	0521		0700			25.0	213.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.52

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128707

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3981

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SANGEETA
Father's Name : SUNIL
Mother's Name : RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	49 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	40 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	47 16	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0476		0700			25.0	195.5
	GRAND TOTAL	0476		0700			25.0	195.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.82

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128708

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3982

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BHUPENDRA SINGH
Father's Name : PAWAN KUMAR
Mother's Name : SUNITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	47 21	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	42 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	69	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
	TOTAL	0476		0700			25.0	200.0
	GRAND TOTAL	0476		0700			25.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128709

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3983

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KUNAL
Father's Name : LALCHAND
Mother's Name : SUSHILA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	64 28	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0605		0700			25.0	246.0
	GRAND TOTAL	0605		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128710

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3984

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ABHISHEK

Father's Name : AVINASH CHAND SRIVASTAV

Mother's Name : LAKSHMI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0562		0700			25.0	227.5
	GRAND TOTAL	0562		0700			25.0	227.5

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

DATED:	JUN 26,2	2025		
KURUKSHET	ERA			
Checked by	1.		2	

(Clerk)

Banne

CONTROLLER OF EXAMINATIONS

Data of issue			
Data of Issue			

Roll No. 245128711

RESULT-cum-DETAILED MARKS CARD

24-DEO-3985 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MANISH KUMAR

: UMESH KUMAR PRASAD Father's Name

: MEERA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	47 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	43	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	49	40AG	100	С	5	02.5	12.5
	TOTAL	0414		0700			25.0	177.0
	GRAND TOTAL	0414		0700			25.0	177.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.08

DATED :	JUN 26,2025	
KURUKSHET	ERA	

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128712

RESULT-cum-DETAILED MARKS CARD

24-DEO-3986 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ANKUR GUPTA : HARI OM VARSHNEY Father's Name

: SUNITA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	A	8	02.5	20.0
	TOTAL	0534		0700			25.0	214.5
	GRAND TOTAL	0534		0700			25.0	214.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.58

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128713

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3987

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SARABJEET SINGH
Father's Name : BALWINDER SINGH
Mother's Name : JAGJIT KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58	25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60	26	40AG	100	О	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44	19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	40		40AG	100	Р	4	02.5	10.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	34	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	45	15	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48		20AG	050	0	10		0
	TOTAL		***		0700			25.0	186.0
								25.0	186.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128714

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3988

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANIL CHAUDHARY
Father's Name : SHRIKESH CHAUDHARY
Mother's Name : PINKLAWATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	60 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0586		0700			25.0	239.5
	GRAND TOTAL	0586		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128715

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3989

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ARPAN KUMAR SRIVASTAVA Father's Name : ASHISH KUMAR SRIVASTAVA

Mother's Name : NEELAM SRIVASTAVA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	61	40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0504		0700			25.0	204.0
	GRAND TOTAL	0504		0700			25.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.16

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Banu

CONTROL		ATTONIC

Roll No. 245128716

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3990

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AARTI

Father's Name : YOGENDER PALIWAL Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0586		0700			25.0	241.0
	GRAND TOTAL	0586		0700			25.0	241.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.64

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Banne

|--|

Roll No. 245128717

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3991

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AJAY KUMAR
Father's Name : KRISHAN KUMAR
Mother's Name : KAUSHLYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obt	cained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23		40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25		40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24		40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27		40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24		40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87		40AG	100	О	10	02.5	25.0
	TOTAL	(0570		0700			25.0	231.5
	GRAND TOTAL	(0570		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128718

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3992

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BAKKAM AKSHAY BALIRAM

Father's Name : BALIRAM Mother's Name : SHRADDHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68	40AG	100	А	8	02.5	20.0
	TOTAL	0502		0700			25.0	206.5
	GRAND TOTAL	0502		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

Roll No. 245128719

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3993

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NISHI AGRAWAL

Father's Name : SATISH CHAND AGRAWAL

Mother's Name : LAXMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	A	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0565		0700			25.0	230.5
	GRAND TOTAL	0565		0700			25.0	230.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.22

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128720

RESULT-cum-DETAILED MARKS CARD

24-DEO-3994 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PRINCE KUMAR

: SHAMBHU CHAUDHARY Father's Name

: SUNITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	60 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
	TOTAL	0578		0700			25.0	234.0
	GRAND TOTAL	0578		0700			25.0	234.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.36

> DATED: JUN 26,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245128721

RESULT-cum-DETAILED MARKS CARD

24-DEO-3995 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RUPESH

: RAVINDER KUMAR Father's Name

: KAVITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0566		0700			25.0	229.0
	GRAND TOTAL	0566		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128722

RESULT-cum-DETAILED MARKS CARD

24-DEO-3996 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : DINESH VISHWAKARMA : GIRDHARILAL VISHWAKARMA Father's Name

: SUNEETA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0574		0700			25.0	229.0
	GRAND TOTAL	0574		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128723

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3997

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATADRU SHIT
Father's Name : SISIR RANJAN SHIT
Mother's Name : ANUPAMA SHIT

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	41 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	33 15	40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	34 15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	36 16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	A	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	57 19	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0397		0700			25.0	160.0
	GRAND TOTAL	0397		0700			25.0	160.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.40

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128724

RESULT-cum-DETAILED MARKS CARD

24-DEO-3998 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : TANPURE PRAKASH ANASHABAPU

: ANASHABAPU Father's Name : JAYASHRI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62	27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57	25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	39	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	210.5
								25.0	210.5

MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

DATED:	JUN 26,2025
KURUKSHET	ERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128725

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-3999

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KHARAT PAYAL MANGALA

Father's Name : MANGALA Mother's Name : MANGALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	90	40AG	100	0	10	02.5	25.0
	TOTAL	0548		0700			25.0	219.5
	GRAND TOTAL	0548		0700			25.0	219.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

		(Cle	rk)	(Assistant)	
Checked by	1.		2	 	
KURUKSHET	TERA				
DATED:	JUN 26,2	2025			



Roll No. 245128726

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4000

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRIYANKA

Father's Name : BIRENDER SINGH Mother's Name : SHARMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0545		0700			25.0	217.0
	GRAND TOTAL	0545		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Banne

|--|

Roll No. 245128727

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24

24-DEO-4001

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRANSHU VERMA
Father's Name : NARESH VERMA
Mother's Name : REETA VERMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62 21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0577		0700			25.0	237.0
	GRAND TOTAL	0577		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128728

RESULT-cum-DETAILED MARKS CARD

24-DEO-4002 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MANISH

: RAMESH CHAND Father's Name

: BIRMATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	44 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	A	8	02.5	20.0
	TOTAL	0523		0700			25.0	210.5
	GRAND TOTAL	0523		0700			25.0	210.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.42

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128729

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4003

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEEL KANTH GROVER
Father's Name : SHYAM LAL GROVER
Mother's Name : RAJ KUMARI GROVER

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0578		0700			25.0	230.0
	GRAND TOTAL	0578		0700			25.0	230.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128730

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4004

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEHA

Father's Name : RAMESH CHAND Mother's Name : MEENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0566		0700			25.0	229.0
	GRAND TOTAL	0566		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

		(CI	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128731

RESULT-cum-DETAILED MARKS CARD

24-DEO-4005 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PALLAB KUMAR DEY : LT PANKAJ KUMAR DEY Father's Name

: LT MILAN DEY Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	riarks obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	18	8	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	26	12	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	21	9	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	28	12	*	40AG	100	Р	4	04.0	16.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	30	13		40AG	100	С	5	04.0	20.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66			40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69			40AG	100	A	8	02.5	20.0
	TOTAL		**	**		0700			25.0	076.0
									25.0	76.0

MCA-20-11 MCA-20-12 MCA-20-13 RESULT: RE - TILL MAR- 2027 IN:

DATED:	JUN 26,2025	
KURUKSHE	TERA	
Chaalaad by	. 1	2

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128732

RESULT-cum-DETAILED MARKS CARD

24-DEO-4006 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SURAJ

: KASHMIR LAL Father's Name

: PARMESHWARI BAI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	63	40AG	100	B+	7	02.5	17.5
	TOTAL	0496		0700			25.0	204.0
	GRAND TOTAL	0496		0700			25.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.16

DATED :	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245128733

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4007

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SANDEEP SINGH Father's Name : HARBANS SINGH Mother's Name : MAMTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	91	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0591		0700			25.0	235.5
	GRAND TOTAL	0591		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128734

RESULT-cum-DETAILED MARKS CARD

24-DEO-4008 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : AMAR JEET : RAMYADI YADAV Father's Name

: SHARDA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0557		0700			25.0	227.5
	GRAND TOTAL	0557		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHE	ΓERA					
DATED:	JUN 26,2	2025				

|--|

Roll No. 245128735

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4009

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATEESH KUMAR
Father's Name : UDHAV PRASAD
Mother's Name : MEENA KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	47	21		40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	22	10	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	48	21		40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54	24		40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24		40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	38		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82			40AG	100	A+	9	02.5	22.5
	TOTAL		*:	**		0700			25.0	158.5
									25.0	158.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-12 MCA-20-16

		(Clerk	()	(Assistant))
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 26,20)25			

Data of issue

Banne

4	CONTROL	\cap E	PINATIONS

Roll No. 245128736

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4010

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEHA
Father's Name : MAHAVIR

Mother's Name : KARNAILO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0540		0700			25.0	221.0
	GRAND TOTAL	0540		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

		(Cler	·k)	(Assist	rant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128737

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4011

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ATUL KUMAR
Father's Name : UMESH SINGH
Mother's Name : RITA DEVI

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	o Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	32	14	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	37	16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	28	12	40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43	19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	30	13	40AG	100	С	5	04.0	20.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	62		40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64		40AG	100	B+	7	02.5	17.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	46	16	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0370		0700			25.0	143.0
	GRAND TOTAL		0370		0700			25.0	143.0

RESULT: PASSED AND HAS OBTAINED: SGPA 5.72

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128738

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4012

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VIJAY KUMAR RAJAK

Father's Name : MENU RAJAK Mother's Name : ASHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	63	27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	57	25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51	22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86		40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87		40AG	100	0	10	02.5	25.0
	TOTAL		0575		0700			25.0	230.0
	GRAND TOTAL		0575		0700			25.0	230.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banu

CONT	ROLLE	R OF	EXAMII	NATIONS

Roll No. 245128739

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4013

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ASHA DEVI Father's Name : MAHABIR Mother's Name : KARNAILO

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	49 21	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0537		0700			25.0	215.5
	GRAND TOTAL	0537		0700			25.0	215.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.62

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128740

RESULT-cum-DETAILED MARKS CARD

24-DEO-4014 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SAURABH PANTH

: SURESH CHAND PANTH Father's Name

: KAMLA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	О	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0544		0700			25.0	219.5
	GRAND TOTAL	0544		0700			25.0	219.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245128741

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4015

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEHA

Father's Name : SURESH KUMAR Mother's Name : SARLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0560		0700			25.0	229.0
	GRAND TOTAL	0560		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245128742

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4016

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RITESH KUMAR
Father's Name : BANDHU LAL
Mother's Name : URMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obt	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25		40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24		40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23		40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26		40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26		40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	47		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	43		40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69 23		40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL	(0498		0700			25.0	213.0
	GRAND TOTAL	()498		0700			25.0	213.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.52

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128743

RESULT-cum-DETAILED MARKS CARD

24-DEO-4017 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ABHISHEK KUMAR : VINOD KUMAR SINGH Father's Name

: NIRMALA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
	TOTAL	0587		0700			25.0	235.5
	GRAND TOTAL	0587		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025		
KURUKSHE	ΓERA		
Chacked by	- 1	2	

(Clerk) (Assistant)

Roll No. 245128744

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4018

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SOURABH SHARMA
Father's Name : KAILASH NATH SHARMA

Mother's Name : UMA THAKUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	47	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	46	40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0471		0700			25.0	197.0
	GRAND TOTAL	0471		0700			25.0	197.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.88

Checked by	1		2		
checked by		(Clerk)		(Assistant)	

Banu

|--|

Roll No. 245128745

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4019

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ABHAY KUMAR VISHWAKARMA Father's Name : RAM NARAYAN VISHWAKARMA

Mother's Name : KUSUM VISHWAKARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0583		0700			25.0	233.0
	GRAND TOTAL	0583		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue _			

Roll No. 245128746

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4020

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SIMRAN CHUGH Father's Name : SURESH CHUGH

Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0554		0700			25.0	221.0
	GRAND TOTAL	0554		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128747

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4021

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BALJEET SINGH SANDHU
Father's Name : SURINDER SINGH SANDHU
Mother's Name : BALWINDER KAUR SANDHU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	A	8	02.5	20.0
	TOTAL	0540		0700			25.0	224.0
	GRAND TOTAL	0540		0700			25.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.96

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128748

RESULT-cum-DETAILED MARKS CARD

24-DEO-4022 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RITESH KAUSHIK

: SUNIL KUMAR KAUSHIK Father's Name

: SHEELA KAUSHIK Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0555		0700			25.0	229.0
	GRAND TOTAL	0555		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2025	
KIIDIIKCHE	TEDA	

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128749

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4023

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPANKER TIWARI
Father's Name : TULSA DUTT TIWARI
Mother's Name : SEEMA TIWARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
	TOTAL	0598		0700			25.0	238.0
	GRAND TOTAL	0598		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128750

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4024

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SANDEEP SINGH
Father's Name : RAJ KUMAR SINGH
Mother's Name : PUSHPA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
	TOTAL	0578		0700			25.0	233.0
	GRAND TOTAL	0578		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2025									
KURUKSHETERA										
Checked by	1.		2							
		(Clerk)		(Assistant)						



Roll No. 245128751

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4025

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MOHIT
Father's Name : MUKESH
Mother's Name : RAJRANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	41	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	43	40AG	100	С	5	02.5	12.5
	TOTAL	0481		0700			25.0	209.0
	GRAND TOTAL	0481		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

DATED:	JUN 26,2	025									
KURUKSHETERA											
Checked by	1.			_ 2.							
		((Clerk)		(Assistant)						



Roll No. 245128752

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4026

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SAKSHI
Father's Name : CHUNNI LAL
Mother's Name : PRAKASH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	34	15	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	34	15	40AG	100	С	5	04.0	20.0
3	MCA-20-13 OPERATING SYSTEMS	28	12 *	40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	33	15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	35	15	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69		40AG	100	А	8	02.5	20.0
	TOTAL		0383		0700			25.0	142.5
	GRAND TOTAL		0383		0700			25.0	142.5

RESULT: PASSED AND HAS OBTAINED: SGPA 5.70

DATED:	JUN 26,2	2025								
KURUKSHETERA										
Checked by	1.			2.						
		((Clerk)		(Assistant)					



Roll No. 245128754

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4028

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ARYAN DHIMAN
Father's Name : ANIL KUMAR
Mother's Name : ARCHANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45	20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	48	21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	45	20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43	19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	43	19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	22	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	152.0
								22.0	152.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128755

RESULT-cum-DETAILED MARKS CARD

24-DEO-4029 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SHINDE SAURABH VINOD

: VINOD Father's Name

: SANJEEVANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0547		0700			25.0	222.0
	GRAND TOTAL	0547		0700			25.0	222.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.88

DATED:	JUN 26,2025	
KLIBLIKSHE	TFRΔ	

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128756

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4030

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KUNAL KUMAR
Father's Name : SUMIT KUMAR
Mother's Name : SHASHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0577		0700			25.0	237.0
	GRAND TOTAL	0577		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128757

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4031

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHRUTI

Father's Name : AJAY DUTT SHARMA Mother's Name : SUMAN SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
	TOTAL	0580		0700			25.0	237.0
	GRAND TOTAL	0580		0700			25.0	237.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1.	2

(Clerk)

Banne

|--|

Roll No. 245128758

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4032

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRIYANKA CHANDEL
Father's Name : PYAR SINGH CHANDEL
Mother's Name : SUSHMA KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	32	14	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	39	17	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	32	14	40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	33	15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	24	11 F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	088.0
								20.0	88.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-15 MCA-20-16 MCA-20-17

DATED :	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

CONTROL		VITUNIC

Roll No. 245128760

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4034

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : PAWAN CHAUHAN
Father's Name : PRADEEP CHAUHAN
Mother's Name : MEENA CHAUHAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44	19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	46	20	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53	23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	41	18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	27	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	33	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	164.0
								25.0	164.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 26,202	5			



Roll No. 245128761

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4035

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KUNDAN KUMAR
Father's Name : RAMAKANT PANDEY
Mother's Name : SARITA PANDEY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0589		0700			25.0	242.0
	GRAND TOTAL	0589		0700			25.0	242.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.68

		(Cle	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128762

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4036

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAKESH
Father's Name : KILLU SINGH
Mother's Name : BABITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	Α	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0!	537	0700			25.0	218.5
	GRAND TOTAL	05	537	0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245128763

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4037

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : RINKAL
Father's Name : BHIM SINGH
Mother's Name : BINA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	39 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	А	8	02.5	20.0
	TOTAL	0463		0700			25.0	190.5
	GRAND TOTAL	0463		0700			25.0	190.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.62

		(Clerk	()	(Assistant))
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 26,20)25			

Data of issue

Banne

Roll No. 245128764

RESULT-cum-DETAILED MARKS CARD

24-DEO-4038 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : NIYAMATHULLA H

Father's Name : HAMEEDULLA SHARIEFF : SHAHIDA BEGUM

Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	А	8	02.5	20.0
	TOTAL	0563		0700			25.0	230.5
	GRAND TOTAL	0563		0700			25.0	230.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.22

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

CONTROL	I FR C)F FXA	AMTNA	TIONS

Roll No. 245128765

RESULT-cum-DETAILED MARKS CARD

24-DEO-4039 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAJS

: SANTHOSH PRABAGAR Father's Name

: LAKSHMI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	70	40AG	100	А	8	02.5	20.0
	TOTAL	0547		0700			25.0	222.5
	GRAND TOTAL	0547		0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128766

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4040

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ANCHAL
Father's Name : RAVINDER
Mother's Name : DARSHNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	64	28	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	65	28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87		40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69	23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0594		0700			25.0	239.5
	GRAND TOTAL		0594		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128767

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4041

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMIT KUMAR
Father's Name : RATI RAM
Mother's Name : RANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	42	18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	57	25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	43	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48	21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49	21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	26	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	22	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	156.0
								25.0	156.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		((Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Banne

(1000000110)		
	CONTROLLER	OF EXAMINATIONS

Data of issue _____

Roll No. 245128768

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4042

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARSHANT KUMAR
Father's Name : RAJENDER SINGH
Mother's Name : BABLI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	34 15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	А	8	02.5	20.0
	TOTAL	0498		0700			25.0	202.5
	GRAND TOTAL	0498		0700			25.0	202.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.10

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128769

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4043

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : GEETHA SRI S
Father's Name : SARAVANAN D
Mother's Name : ANBU SELVI S

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	otained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21		40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	1	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	1	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	5	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	1	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72		40AG	100	А	8	02.5	20.0
	TOTAL		0545		0700			25.0	218.5
	GRAND TOTAL		0545		0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245128770

RESULT-cum-DETAILED MARKS CARD

24-DEO-4044 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MOHD AKIB SOHEL : SHAMSHUL HAQ Father's Name

: SARWARI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	43 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
	TOTAL	0528		0700			25.0	214.0
	GRAND TOTAL	0528		0700			25.0	214.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.56

DATED:	JUN 26,2025		
KURUKSHE	TERA		
Ch		2	

Data of issue

(Clerk)

(Assistant)

Roll No. 245128771

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4045

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANKIT KUMAR REGAR
Father's Name : PYAR CHANDRA REGAR
Mother's Name : BHAGWANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	67 29	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0579		0700			25.0	235.5
	GRAND TOTAL	0579		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128773

RESULT-cum-DETAILED MARKS CARD

24-DEO-4047 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : VIKAS

: SATYAWAN INDORA Father's Name

: BIMLA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	66	40AG	100	А	8	02.5	20.0
	TOTAL	0548		0700			25.0	226.5
	GRAND TOTAL	0548		0700			25.0	226.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.06

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128774

RESULT-cum-DETAILED MARKS CARD

24-DEO-4048 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : VED PARKASH KAUSHIK

: RAMESH CHAND Father's Name : SOMATI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48	21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	43	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	168.0
								20.0	168.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128775

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4049

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUMIT
Father's Name : SURAJBHAN
Mother's Name : SUSHMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0586		0700			25.0	233.0
	GRAND TOTAL	0586		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128776

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4050

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TRILOK

Father's Name : SATISH KUMAR Mother's Name : KAMLESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	A	8	02.5	20.0
	TOTAL	0497		0700			25.0	202.5
	GRAND TOTAL	0497		0700			25.0	202.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.10

DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

Data of issue

(Clerk) (Assistant)

Banne

Roll No. 245128777

RESULT-cum-DETAILED MARKS CARD

24-DEO-4051 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025

(CBCS-CDOE)

Name : SAYYED MOHAMMAD ADIL AHTESHAM

: AHTESHAM HUSSAIN Father's Name

: NIGAR BANO Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46	20	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	35	15	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	37	16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	37	16	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	37	16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	39	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	44		40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	43	15	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	140.5
	MOA 00 46							25.0	140.5

MCA-20-16 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128778

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4052

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KIRAN
Father's Name : DHARAMBIR
Mother's Name : BABITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	44	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50	22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47	21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	164.0
								20.0	164.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

Roll No. 245128779

RESULT-cum-DETAILED MARKS CARD

24-DEO-4053 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : AKASH SAJWAN

: MAHAVIR SINGH SAJWAN Father's Name

: SUSHMA SAJWAN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	90	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0559		0700			25.0	227.5
	GRAND TOTAL	0559		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128780

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4054

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BHAVNEET KAUR SACHDEVA

Father's Name : RAMINDER JEET SINGH Mother's Name : KULWINDER KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	66 29	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0611		0700			25.0	246.0
	GRAND TOTAL	0611		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banu

|--|

Roll No. 245128781

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4055

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NISHISHA
Father's Name : NARESH KUMAR
Mother's Name : KAMLESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	48	21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51	22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	22	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	35	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	176.0
								25.0	176.0

(Assistant)

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2	2025		
KURUKSHET	ERA			
Checked by	1.		2.	

(Clerk)

Banne

CONTROL		VITUNIC

Data of issue _____

Roll No. 245128782

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4056

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHAHNAZ KHAN

Father's Name : AKBAR ALI Mother's Name : RASILA BEGUM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46	20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	49	21	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	42	18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47	21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	31	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	29	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63	22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	160.0
	140.400.400							25.0	160.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED :	JUN 26,2025		
KURUKSHE	TERA		

Data of issue

Checked by 1. 2. (Clark)

(Clerk) (Assistant)

Banne

Roll No. 245128783

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4057

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANKIT

Father's Name : BHIM SINGH Mother's Name : RAJ RANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50	22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59	26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88		40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69	23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0590		0700			25.0	238.0
	GRAND TOTAL		0590		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHE	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245128784

RESULT-cum-DETAILED MARKS CARD

24-DEO-4058 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : NANCY

: RAJINDER KUMAR Father's Name : REENA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	34 15	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	A	8	02.5	20.0
	TOTAL	0492		0700			25.0	194.5
	GRAND TOTAL	0492		0700			25.0	194.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.78

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128785

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4059

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DAMBALE SHUBHAM NANA

Father's Name : NANA Mother's Name : RANJANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0593		0700			25.0	239.5
	GRAND TOTAL	0593		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128786

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4060

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MUSKAN
Father's Name : BABU RAM
Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	42	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	56 19	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0486		0700			25.0	208.5
	GRAND TOTAL	0486		0700			25.0	208.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.34

DATED:	JUN 26,20	25								
KURUKSHETERA										
Checked by	1		2.							
		(Clerk)		(Assistant)						



Roll No. 245128787

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4061

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAJNEESH KUMAR

Father's Name : RAM KEWAL Mother's Name : JYOTI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0562		0700			25.0	223.5
	GRAND TOTAL	0562		0700			25.0	223.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.94

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Data of issue

Banne

|--|

Roll No. 245128788

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4062

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SIDDIQUI NABEEL SHOAIB

Father's Name : SHOAIB Mother's Name : ZARINA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	49 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	58 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0510		0700			25.0	205.0
	GRAND TOTAL	0510		0700			25.0	205.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128789

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4063

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MEHAK CHAUHAN
Father's Name : VIPAN KUMAR
Mother's Name : RAJNI BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
	TOTAL	0538		0700			25.0	214.5
	GRAND TOTAL	0538		0700			25.0	214.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.58

,	_	(Cle	 rk)	(4	Assistant)
Checked by	1.		2	2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			



Roll No. 245128790

RESULT-cum-DETAILED MARKS CARD

24-DEO-4064 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SAKSHI

: SURESH KUMAR Father's Name

: BABITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	37 16	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	39 17	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	41 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	42 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	67	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64	40AG	100	B+	7	02.5	17.5
	TOTAL	0418		0700			25.0	173.5
	GRAND TOTAL	0418		0700			25.0	173.5

RESULT: PASSED AND HAS OBTAINED: SGPA 6.94

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128791

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4065

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : BHAWANA RANI GAUTAM
Father's Name : RAJESH KUMAR GAUTAM
Mother's Name : SHASHI RANI GAUTAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	45 20	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	37 16	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	70	40AG	100	А	8	02.5	20.0
	TOTAL	0461		0700			25.0	190.5
	GRAND TOTAL	0461		0700			25.0	190.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.62

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)

Banne

CONTROLLE	R OF	EXAMIN	NATIONS
-----------	------	--------	---------

Data of issue _____

Roll No. 245128792

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4066

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DALIP KUMAR
Father's Name : JASWANT SINGH
Mother's Name : KRISHANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 2	4	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 2	4	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50 2	2	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 2	6	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 2	4	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87		40AG	100	0	10	02.5	25.0
	TOTAL		0569		0700			25.0	230.0
	GRAND TOTAL		0569		0700			25.0	230.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.20

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128793

RESULT-cum-DETAILED MARKS CARD

24-DEO-4067 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SHOUVIK DAS

: NIRMAL KUMAR DAS Father's Name

: TAPASHI DAS Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	28	12 *	40AG	100	Р	4	04.0	16.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51	22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	40	14	40AG	100	В	6		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48		20AG	050	0	10		0
	TOTAL		***		0700			25.0	156.0
								20.0	156.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128794

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4068

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KASHISH DUA
Father's Name : MANOJ DUA
Mother's Name : JYOTI DUA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0565		0700			25.0	229.0
	GRAND TOTAL	0565		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

		(Cle	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128796

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4070

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SURAJ SINGH
Father's Name : ASHARFILAL SINGH
Mother's Name : MAMTA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	60 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0540		0700			25.0	221.0
	GRAND TOTAL	0540		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128797

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4071

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TARUN KUMAR
Father's Name : RAKESH KUMAR
Mother's Name : ANURADHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	70	40AG	100	А	8	02.5	20.0
	TOTAL	0489		0700			25.0	202.5
	GRAND TOTAL	0489		0700			25.0	202.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.10

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128798

RESULT-cum-DETAILED MARKS CARD

24-DEO-4072 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : OJASVI LOURA : BHUPENDER LOURA Father's Name

: NIRMALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44	19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	49	21	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	48	21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51	22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	44		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	35	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	172.5
								25.0	172.5

MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1. (Clerk)

(Assistant)

Roll No. 245128800

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4074

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SONU KUMAR
Father's Name : ANAND SWAROOP
Mother's Name : KRISHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	А	8	02.5	20.0
	TOTAL	0538		0700			25.0	222.5
	GRAND TOTAL	0538		0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245128801

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4075

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DHAIRYA MIDHA

Father's Name : BASANT KUMAR MIDHA

Mother's Name : MANJU MIDHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	AB	24	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	AB	25	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	AB	22	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	AB	24	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	AB	24	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85			40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76			40AG	100	A+	9	02.5	22.5
	TOTAL		*	**		0700			25.0	047.5
									25.0	47.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15

		(Clerk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	<u>2</u> 025				

Data of issue

Banne

CONTROL	IFR (JE EXA	ΜΙΝΔ	TIONS

Roll No. 245128802

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4076

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MIRZA REHAN BAIG
Father's Name : MIRZA AQUEEL BAIG
Mother's Name : RESHMA FIRDAOS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	45 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0510		0700			25.0	209.0
	GRAND TOTAL	0510		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

DATED:	JUN 26,20)25						
KURUKSHETERA								
Checked by	1		2.					
		(Clerk)		(Assistant)				



Roll No. 245128803

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4077

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KHUSHI SHARMA
Father's Name : MANOJ KUMAR
Mother's Name : SUDESH SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 2	7	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 2	6	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 2	3	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 2	4	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 2	7	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78		40AG	100	A+	9	02.5	22.5
	TOTAL		0575		0700			25.0	237.0
	GRAND TOTAL		0575		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,2	025							
KURUKSHETERA									
Checked by	1.			_ 2.					
		((Clerk)		(Assistant)				



Roll No. 245128804

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4078

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 $(\mathsf{CBCS\text{-}CDOE})$

Name : SOURABH KUMAR
Father's Name : SATISH CHANDER
Mother's Name : SANTOSH KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0607		0700			25.0	246.0
	GRAND TOTAL	0607		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

DATED:	JUN 26,20)25						
KURUKSHETERA								
Checked by	1		2.					
		(Clerk)		(Assistant)				



Roll No. 245128805

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4079

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : POOJA
Father's Name : DHARM PAL
Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	29 13	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64	40AG	100	B+	7	02.5	17.5
	TOTAL	0479		0700			25.0	198.5
	GRAND TOTAL	0479		0700			25.0	198.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.94

		(CI	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

CONTROL		VITUNIC

Roll No. 245128806

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4080

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : CHANDAN KUMAR

Father's Name : VINAY SAH
Mother's Name : MANJU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0565		0700			25.0	233.0
	GRAND TOTAL	0565		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

		(Cle	rk)	(/	Assistant)	
Checked by	1.		2			
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER	OF	EXAMINATIONS
------------	----	---------------------

Data of issue _____

Roll No. 245128807

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4081

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUNAINA
Father's Name : SUSHIL KUMAR
Mother's Name : BARKHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0557		0700			25.0	227.5
	GRAND TOTAL	0557		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

		((Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245128808

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4082

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BULLA NAGA VENKATESWARA RAO

Father's Name : BULLA PULLAYYA Mother's Name : BULLA MARTHAMMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	65	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	46 16	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0463		0700			25.0	192.0
	GRAND TOTAL	0463		0700			25.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.68

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banan

Roll No. 245128809

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4083

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMIT SAHA
Father's Name : ASHISH SAHA
Mother's Name : RATNA SAHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0568		0700			25.0	229.0
	GRAND TOTAL	0568		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128810

RESULT-cum-DETAILED MARKS CARD

24-DEO-4084 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SHAGUN

: BHAGWAT DAYAL Father's Name

: OMWATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0587		0700			25.0	233.0
	GRAND TOTAL	0587		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2025		
KURUKSHE	TERA		
Charles de.		2	

Data of issue

CONTROLLER OF EXAMINATIONS

(Clerk) (Assistant)

Roll No. 245128811

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4085

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AJAY SINGH
Father's Name : NAND LAL
Mother's Name : DHARSHANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	39 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	32 14	40AG	100	С	5	04.0	20.0
3	MCA-20-13 OPERATING SYSTEMS	29 13	40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	37 16	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	36 16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0410		0700			25.0	161.0
	GRAND TOTAL	0410		0700			25.0	161.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.44

·		(Clerk)	_	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128812

RESULT-cum-DETAILED MARKS CARD

24-DEO-4086 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : POOJA

: BHARAT BHUSHAN Father's Name

: SALONI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	70	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0550		0700			25.0	224.0
	GRAND TOTAL	0550		0700			25.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.96

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245128813

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4087

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAKSHI BHRIGU Father's Name : RAJESH KUMER

Mother's Name : NEELAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	56 19	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	44	20AG	050	0	10		0
	TOTAL	0493		0700			25.0	212.0
	GRAND TOTAL	0493		0700			25.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.48

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			2.	
		(Cl	erk)		(Assistant)



Roll No. 245128814

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4088

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DHROOV

Father's Name : SATISH KUMAR Mother's Name : KAMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	A	8	02.5	20.0
	TOTAL	0572		0700			25.0	234.5
	GRAND TOTAL	0572		0700			25.0	234.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.38

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128815

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4089

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAPNA Father's Name : RAJESH

Mother's Name : PRABHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0594		0700			25.0	238.0
	GRAND TOTAL	0594		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2025		
KURUKSHE	TERA		
Chackad by	. 1	2	

Banus

(Clerk)	(Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245128816

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4090

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SANYA

Father's Name : SHAMBHU KUMAR Mother's Name : GEETA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0588		0700			25.0	238.0
	GRAND TOTAL	0588		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128817

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4091

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANISHA KUMARI Father's Name : SHYAM BAHADUR

Mother's Name : BIMLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	70	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	69 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0534		0700			25.0	216.0
	GRAND TOTAL	0534		0700			25.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.64

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128818

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4092

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MEENAKSHI
Father's Name : RAJKUMAR
Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	45 20	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	36 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	37 16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0461		0700			25.0	183.5
	GRAND TOTAL	0461		0700			25.0	183.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.34

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245128819

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4093

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HIMANSHU KUMAR

Father's Name : HARERAM

Mother's Name : SHARMAWATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0551		0700			25.0	221.0
	GRAND TOTAL	0551		0700			25.0	221.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2	025		
KURUKSHET	ERA			
Checked by	1.		2.	

(Clerk)

Data of issue

Banne

CONTROLLER OF EXAI		IN S
--------------------	--	------

Roll No. 245128820

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24

24-DEO-4094

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SHUBHAM DHANANIA
Father's Name : RAVINDER KUMAR
Mother's Name : NIRMAL DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	59 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	64 28	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	67	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	70 24	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0568		0700			25.0	236.0
	GRAND TOTAL	0568		0700			25.0	236.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.44

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245128821

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4095

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : INDIRA KUMARI ABHILASHA

Father's Name : LALAN RAM
Mother's Name : NIRMALA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	64 28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0587		0700			25.0	239.5
	GRAND TOTAL	0587		0700			25.0	239.5

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk)

Data of issue

Banne

CONTROL	OE	⊏∨∧мт	NIATIONIC

Roll No. 245128822

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4096

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMAN SHEORAN
Father's Name : RAMMEHAR SINGH
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45	20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	46	20	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	49	21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48	21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77		40AG	100	A+	9	02.5	22.5
	TOTAL		0502		0700			25.0	209.0
	GRAND TOTAL		0502		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

DATED:	JUN 26,2	025			
KURUKSHET	NTED: JUN 26,2025 SRUKSHETERA ecked by 1 2				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128823

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4097

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MANISH SAINI
Father's Name : SUSHIL KUMAR
Mother's Name : SUNITA SAINI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
	TOTAL	0548	3	0700			25.0	222.5
	GRAND TOTAL	0548		0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128824

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4098

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANDEEP KUMAR DALAL
Father's Name : SUBHASH CHANDER DALAL

Mother's Name : ASHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0583		0700			25.0	234.0
	GRAND TOTAL	0583		0700			25.0	234.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.36

		(Cler	·k)	(Assist	rant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128825

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4099

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MAFFI DEVI
Father's Name : MUKESH
Mother's Name : SHEELA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0579		0700			25.0	238.0
	GRAND TOTAL	0579		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue

Bann

4	CONTROL	\cap E	PINATIONS

Roll No. 245128826

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4100

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BRAHMENDRA KUMAR SHUKLA

Father's Name : SANATAN SHUKLA Mother's Name : MRIDULA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	75	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	58 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0526		0700			25.0	214.5
	GRAND TOTAL	0526		0700			25.0	214.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.58

DATED : JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. ______
(Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245128827

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4101

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEERAJ TIWARI

Father's Name : LAKSHMI SHANKAR TIWARI Mother's Name : MAHESHWARI TIWARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	69	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
	TOTAL	053:	3	0700			25.0	216.0
	GRAND TOTAL	0533	3	0700			25.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.64

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

	CONTROL	LER OF	EXAMIN	IATIONS
--	---------	--------	--------	---------

Roll No. 245128828

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4102

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KOMAL
Father's Name : ARUN JHA
Mother's Name : MUNNI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	44 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	42 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	70	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62 21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0459		0700			25.0	192.0
	GRAND TOTAL	0459		0700			25.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.68

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			2.	
		(Cl	erk)		(Assistant)



Roll No. 245128829

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4103

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAKESH KUMAR
Father's Name : RAM NIWAS
Mother's Name : BHATERI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0550		0700			25.0	225.0
	GRAND TOTAL	0550		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128830

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4104

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AJAY
Father's Name : SUBHASH
Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49	21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	176.0
								20.0	176.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue

Bann

CONTROLLER OF EXAM	INATIONS
--------------------	----------

Roll No. 245128831

RESULT-cum-DETAILED MARKS CARD

24-DEO-4105 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MUSKAN

: NARESH KUMAR Father's Name : BALWINDER KAUR Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	65	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	57	40AG	100	B+	7	02.5	17.5
	TOTAL	0520		0700			25.0	221.5
	GRAND TOTAL	0520		0700			25.0	221.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.86

DATED: JUN 26,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk)

(Assistant)

Roll No. 245128832

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4106

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TANU CHAHAL
Father's Name : BIJENDER
Mother's Name : MUKESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0601		0700			25.0	242.0
	GRAND TOTAL	0601		0700			25.0	242.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.68

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128833

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4107

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAGHAV SUTHAR Father's Name : BAJRANG LAL SUTHAR

Mother's Name : JAI SHREE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
	TOTAL	0557		0700			25.0	226.0
	GRAND TOTAL	0557		0700			25.0	226.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.04

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

CONTROLLER OF EXAI		IN S
--------------------	--	------

Roll No. 245128834

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4108

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SACHIN KUMAR SINGH Father's Name : SHYAM NANDAN SINGH

Mother's Name : SAROJ DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0585		0700			25.0	238.0
	GRAND TOTAL	0585		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

		(CI	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245128835

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4109

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SURAJ

Father's Name : MANOJ KUMAR Mother's Name : SUDHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0565		0700			25.0	225.0
	GRAND TOTAL	0565		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128836

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4110

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : FATEH SINGH SOAM
Father's Name : SANJEEV KUMAR
Mother's Name : PRABHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	37 16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	34 15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	35 15	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	70	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	61	40AG	100	B+	7	02.5	17.5
	TOTAL	0400		0700			25.0	161.5
	GRAND TOTAL	0400		0700			25.0	161.5

RESULT: PASSED AND HAS OBTAINED: SGPA 6.46

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245128837

RESULT-cum-DETAILED MARKS CARD

24-DEO-4111 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MOHIT

: NARENDER SINGH Father's Name

: BABLI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	63 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0596		0700			25.0	242.0
	GRAND TOTAL	0596		0700			25.0	242.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.68

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128838

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4112

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NAINA TILLO
Father's Name : LAKSHMAN DASS
Mother's Name : SHAKUNTLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	О	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	О	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0582		0700			25.0	237.0
	GRAND TOTAL	0582		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245128839

RESULT-cum-DETAILED MARKS CARD

24-DEO-4113 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : BIKASH KUMAR

: BINDESHWAR PRASAD SAW Father's Name

: MEENA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0580		0700			25.0	231.5
	GRAND TOTAL	0580		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128840

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4114

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : RAMKESH Father's Name : JHINGA Mother's Name : SURNIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
	TOTAL	0542		0700			25.0	217.0
	GRAND TOTAL	0542		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128841

RESULT-cum-DETAILED MARKS CARD

24-DEO-4115 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : LAKSHAY

: RAMESH KUMAR Father's Name

: REENA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	44 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0558		0700			25.0	221.0
	GRAND TOTAL	0558		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

Data of issue

(Clerk) (Assistant)

Roll No. 245128842

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4116

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : YUVRAJ
Father's Name : GURMEET
Mother's Name : SUDESH RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0589		0700			25.0	239.5
	GRAND TOTAL	0589		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128843

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4117

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SANTOSH KUMAR RAI
Father's Name : BRIJ MOHAN RAI
Mother's Name : SANDHYA RAI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59	26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63	27	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80		40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68	23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0580		0700			25.0	235.5
	GRAND TOTAL		0580		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128844

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4118

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ABHISHEK KAUSHIK
Father's Name : ASHOK KUMAR KAUSHIK

Mother's Name : KAVITA KAUSHIK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	60	40AG	100	B+	7	02.5	17.5
	TOTAL	0542		0700			25.0	220.0
	GRAND TOTAL	0542		0700			25.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.80

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banan

CONTROLL	ER OF EX	AMINATIO	NS

Roll No. 245128846

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4120

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AKASH RAJPUT
Father's Name : RAMESH CHANDRA
Mother's Name : GUDDI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	20	9	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	28	12	*	40AG	100	Р	4	04.0	16.0
3	MCA-20-13 OPERATING SYSTEMS	35	15		40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	25	11	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	16	7	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		*	***		0700			25.0	040.0
									20.0	40.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128847

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4121

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SACHIN
Father's Name : KANWARPAL
Mother's Name : RAJESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	31	14		40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	29	13		40AG	100	С	5	04.0	20.0
3	MCA-20-13 OPERATING SYSTEMS	34	15		40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	28	12	*	40AG	100	Р	4	04.0	16.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	29	11	*	40AG	100	Р	4	04.0	16.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	64			40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65			40AG	100	А	8	02.5	20.0
	TOTAL		0345			0700			25.0	129.5
	GRAND TOTAL		0345			0700			25.0	129.5

RESULT: PASSED AND HAS OBTAINED: SGPA 5.18

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128848

RESULT-cum-DETAILED MARKS CARD

24-DEO-4122 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : HIMANSHU

: SUDHAKAR SINGH Father's Name : SUNEETA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 2	21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 2	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 2	21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	42	18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 2	22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	160.0
								20.0	160.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245128849

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4123

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPAK KUSHWAHA
Father's Name : G N KUSHWAHA
Mother's Name : VIDYAWATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61	27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	62	27	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	45	20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	28	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	34	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	184.0
								25.0	184.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128850

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4124

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ANSHUL BHARDWAJ
Father's Name : RAMESH CHAND SHARMA

Mother's Name : MUKESH SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0601		0700			25.0	242.0
	GRAND TOTAL	0601		0700			25.0	242.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.68

		(Clerk	<u> </u>	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED :	JUN 26,2	2025			



CONTROLLER OF EXAI		IN S
--------------------	--	------

Roll No. 245128851

RESULT-cum-DETAILED MARKS CARD

24-DEO-4125 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ASHISH KUMAR : VINOD KUMAR SINHA Father's Name

: SUNITA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0584		0700			25.0	235.5
	GRAND TOTAL	0584		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128852

RESULT-cum-DETAILED MARKS CARD

24-DEO-4126 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : JADHAV SHIVAJI PANDURANG

: PANDURANG Father's Name : SAKHUBAI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48	21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	64	28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57	25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	34	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63	22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48		20AG	050	0	10		0
	TOTAL		***		0700			25.0	184.0
								22.0	184.0

MCA-20-16 MCA-20-17 RE - TILL MAR- 2027 IN: RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128853

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4127

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : HARSH PANWAR
Father's Name : VINOD KUMAR
Mother's Name : PUSHPA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	48 21	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	44	40AG	100	С	5	02.5	12.5
	TOTAL	0479		0700			25.0	199.0
	GRAND TOTAL	0479		0700			25.0	199.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.96

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128854

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4128

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AKASH SAXENA
Father's Name : SHARAD SAXENA
Mother's Name : KAVITA SAXENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	53 18	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0563		0700			25.0	221.0
	GRAND TOTAL	0563		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245128855

RESULT-cum-DETAILED MARKS CARD

24-DEO-4129 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAVI ROSHAN

: PREM CHAND PATHAK Father's Name

: RAGINI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	43		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	39	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	59	20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	196.5
								25.0	196.5

MCA-20-17 RE - TILL MAR- 2027 IN: RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128856

RESULT-cum-DETAILED MARKS CARD

24-DEO-4130 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MANAV

: SUDERSHAN MOHAN Father's Name

: KIRAN BALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51	22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	37	16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	42		40AG	100	С	5	02.5	12.5
	TOTAL		***		0700			25.0	180.5
								22.0	180.5

MCA-20-16 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128857

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4131

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GAGAN SHARMA

Father's Name : RAJ KUMAR Mother's Name : NEERAJ RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	41 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0532		0700			25.0	219.5
	GRAND TOTAL	0532		0700			25.0	219.5

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

DATED:	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2	

(Clerk)

Banne

CONTROLLER OF	EXAMINATIONS
---------------	--------------

Data of issue _____

Roll No. 245128858

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4132

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAKSHI
Father's Name : OMPAL
Mother's Name : USHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0582		0700			25.0	231.5
	GRAND TOTAL	0582		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128860

RESULT-cum-DETAILED MARKS CARD

Regn. No.

24-DEO-4134

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MD MAQSOOD ALAM Father's Name : MD SHAFI ALAM : MAJIBUN NISHA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61	27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	61	27	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	00	13 F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64	22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	40		20AG	050	A+	9		0
	TOTAL		***		0700			25.0	156.0
								20.0	156.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-15 MCA-20-16 MCA-20-17

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	5			



CONTROLLER OF EXAM	INATIONS
--------------------	----------

Roll No. 245128861

RESULT-cum-DETAILED MARKS CARD

24-DEO-4135 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SHABANA SHAIK

: SHAIK MASTHAN SAHEB Father's Name

: MUNTHAJ Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	45 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
	TOTAL	0503		0700			25.0	206.5
	GRAND TOTAL	0503		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128862

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4136

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : YOGESH SINGH Father's Name : GIRISH SINGH

Mother's Name : ASHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0570		0700			25.0	229.0
	GRAND TOTAL	0570		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

		(Clerk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	<u>2</u> 025				

Banne

CONTROLLER OF EXAI		IN S
--------------------	--	------

Roll No. 245128863

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4137

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KHUSHI
Father's Name : RAJINDER
Mother's Name : PINKI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0578		0700			25.0	235.5
	GRAND TOTAL	0578		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED :	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128864

RESULT-cum-DETAILED MARKS CARD

24-DEO-4138 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : NITIN

: MUNESH KUMAR Father's Name

: LILA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
	TOTAL	0574		0700			25.0	229.0
	GRAND TOTAL	0574		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128865

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4139

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANI SHANKAR TIWARI
Father's Name : TRIBHUWAN NATH TIWARI

Mother's Name : MANJU TIWARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	42	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	42	40AG	100	С	5	02.5	12.5
	TOTAL	0474		0700			25.0	205.0
	GRAND TOTAL	0474		0700			25.0	205.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 8.20

DATED :	JUN 26,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk)

Banne

CONTROLLER	OF EXAMINATIONS

Data of issue _____

Roll No. 245128866

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4140

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : CHAVAN SHREECHAND KHAIROODAS

Father's Name : KHAIROODAS Mother's Name : CHANDRAKALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0545		0700			25.0	221.0
	GRAND TOTAL	0545		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128867

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4141

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PINTU KUMAR JHA
Father's Name : SURYAMOHAN JHA

Mother's Name : NILAM JHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0558		0700			25.0	221.0
	GRAND TOTAL	0558		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

		(CI	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Banne

CONTROLLER OF EXAMINATIONS	CONTROLLER	OF	EXAMINA	TIONS
----------------------------	------------	----	----------------	-------

Roll No. 245128868

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4142

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MD AKBAL
Father's Name : MD MUMTAZ
Mother's Name : HUSNA KHATUN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	36	16	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	36	16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	44	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	42	18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75		40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	54	18	40AG	100	A	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0463		0700			25.0	187.5
	GRAND TOTAL		0463		0700			25.0	187.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128869

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4143

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GITIKA
Father's Name : MANOJ
Mother's Name : NIDHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0612		0700			25.0	246.0
	GRAND TOTAL	0612		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128870

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4144

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SIMRAN

Father's Name : PAWAN KUMAR Mother's Name : RAJ RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0593		0700			25.0	237.0
	GRAND TOTAL	0593		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128871

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4145

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GAGAN

Father's Name : SURINDER SHARMA

Mother's Name : RITU SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	42 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	69	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	43	40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0475		0700			25.0	200.5
	GRAND TOTAL	0475		0700			25.0	200.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.02

DATED : JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)



Roll No. 245128872

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4146

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : RISHAV KUMAR
Father's Name : LALA PRASAD
Mother's Name : USHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	43 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
	TOTAL	0527		0700			25.0	215.5
	GRAND TOTAL	0527		0700			25.0	215.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.62

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue

Bann

CONTROLLER OF EXAM	11NA LIONS
--------------------	------------

Roll No. 245128873

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4147

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : GOUTAM RAJ
Father's Name : ADITYA KUMAR
Mother's Name : SWETA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	64 28	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0587		0700			25.0	239.5
	GRAND TOTAL	0587		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128874

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4148

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RUPANSH SALUJA
Father's Name : KRISHAN SALUJA
Mother's Name : RADHIKA SALUJA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	61 21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0560		0700			25.0	225.0
	GRAND TOTAL	0560		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128875

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4149

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MARATHE NITAL ANIL

Father's Name : ANIL Mother's Name : LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	43 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
	TOTAL	0514		0700			25.0	206.5
	GRAND TOTAL	0514		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128877

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4151

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANUJ
Father's Name : DHANPAT
Mother's Name : URMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	А	8	02.5	20.0
	TOTAL	0539		0700			25.0	224.0
	GRAND TOTAL	0539		0700			25.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.96

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128878

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4152

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AKSHAY GAUR
Father's Name : MANOJ GAUR
Mother's Name : REKHA GAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24		40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	5	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	j	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	5	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	5	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89		40AG	100	0	10	02.5	25.0
	TOTAL		0587		0700			25.0	238.0
	GRAND TOTAL		0587		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128879

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4153

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEESHA KHANNA Father's Name : VIRENDER KHANNA

Mother's Name : DEEPALI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	45 20	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0528		0700			25.0	218.0
	GRAND TOTAL	0528		0700			25.0	218.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.72

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1	2.

(Clerk)

Data of issue

(Assistant)

Banne

Roll No. 245128880

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4154

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : OMBEER SHARMA
Father's Name : RAJ KUMAR SHARMA
Mother's Name : SUNITA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	43 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	71	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
	TOTAL	0522		0700			25.0	216.0
	GRAND TOTAL	0522		0700			25.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.64

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128881

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4155

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ABHISHEK BHARDWAJ
Father's Name : RAJENDER PRASHAD
Mother's Name : BHARTI SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0563		0700			25.0	226.0
	GRAND TOTAL	0563		0700			25.0	226.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.04

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128882

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4156

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATISH DHONDIRAM KADAM

Father's Name : DHONDIRAM Mother's Name : BAHINABAI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0549		0700			25.0	219.5
	GRAND TOTAL	0549		0700			25.0	219.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. _____

(Clerk) (Assistant)



Roll No. 245128883

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4157

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ATUL KUMAR
Father's Name : DAVINDER KUMAR

Mother's Name : SOMA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	42 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	37 16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	38 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	33 15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	33 15	40AG	100	С	5	04.0	20.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
	TOTAL	0417		0700			25.0	162.5
	GRAND TOTAL	0417		0700			25.0	162.5

RESULT: PASSED AND HAS OBTAINED: SGPA 6.50

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONTROLLER OF EXAI		IN S
--------------------	--	------

Data of issue _____

Roll No. 245128884

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4158

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SAGAR
Father's Name : RAMSHARAN
Mother's Name : RAJESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0522		0700			25.0	209.0
	GRAND TOTAL	0522		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

		(Clerk)		(Assistant))
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	25			



Roll No. 245128885

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4159

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MD SAIFUL PURKAIT
Father's Name : MD IDRIS PURKAIT
Mother's Name : ROHIMA BIBI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0576		0700			25.0	229.0
	GRAND TOTAL	0576		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,2	2025			
KURUKSHETERA					
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128886

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4160

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANISH KUMAR SINGH Father's Name : PRAMOD KUMAR SINGH

Mother's Name : MEENAKSHI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	43 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0552		0700			25.0	225.0
	GRAND TOTAL	0552		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Cle	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128887

RESULT-cum-DETAILED MARKS CARD

24-DEO-4161 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : JITENDRA SINGH CHAUHAN

: SARVESH CHAUHAN Father's Name

: PUSHPA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	47 21	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0503		0700			25.0	201.0
	GRAND TOTAL	0503		0700			25.0	201.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.04

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128888

RESULT-cum-DETAILED MARKS CARD

24-DEO-4162 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : JOSHI SHRUTIBEN RAJESHBHAI

: RAJESHBHAI Father's Name : HARSHABEN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	37	16		40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	29	11	*	40AG	100	Р	4	04.0	16.0
3	MCA-20-13 OPERATING SYSTEMS	37	16		40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	36	16		40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	39	17		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	23		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	22		F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	46	16		40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB		F	20AG	050	F	0		0
	TOTAL		**	**		0700			25.0	116.0
									25.0	116.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

(Clerk)

(Assistant)



Roll No. 245128889

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4163

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAVINDER
Father's Name : SURESH KUMAR
Mother's Name : SUMAN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	057	0	0700			25.0	231.5
	GRAND TOTAL	057	0	0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128890

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4164

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : AMIT KUMAR
Father's Name : RAMSAJIVAN
Mother's Name : KALAWATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0543		0700			25.0	221.0
	GRAND TOTAL	0543		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128891

RESULT-cum-DETAILED MARKS CARD

24-DEO-4165 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PRIYANSHU

: SULINDER KUMAR Father's Name

: KIRAN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	О	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0571		0700			25.0	233.0
	GRAND TOTAL	0571		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128892

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4166

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRAGATI VERMA

Father's Name : RAJKUMAR Mother's Name : SAVITRI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	43	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0537		0700			25.0	221.5
	GRAND TOTAL	0537		0700			25.0	221.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.86

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

CONTROL		ATTONIC

Roll No. 245128893

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4167

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NEERAJ KUMAR
Father's Name : SUBHASH CHAND
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0580		0700			25.0	237.0
	GRAND TOTAL	0580		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128894

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4168

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : TANVI AGGARWAL
Father's Name : MUKESH AGGARWAL
Mother's Name : USHA AGGARWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0572		0700			25.0	235.5
	GRAND TOTAL	0572		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128895

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4169

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ARADHY SHARMA
Father's Name : SUNIL KANT SHARMA

Mother's Name : MADHU RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0539		0700			25.0	219.5
	GRAND TOTAL	0539		0700			25.0	219.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.78

DATED: JUN 26	,2025		
KURUKSHETERA			
Checked by 1.		2	

Data of issue

(Clerk) (Assistant)



Roll No. 245128896

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4170

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ARUN SHARMA
Father's Name : RAJENDER SHARMA
Mother's Name : DAYA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0575		0700			25.0	235.5
	GRAND TOTAL	0575		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128897

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4171

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUMIT GOYAT
Father's Name : RAMMEHAR
Mother's Name : CHANDRAVATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0557		0700			25.0	225.0
	GRAND TOTAL	0557		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128898

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4172

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : VIVEK SHARMA
Father's Name : SOHAN LAL
Mother's Name : JANAK DULARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	A	8	02.5	20.0
	TOTAL	0523		0700			25.0	210.5
	GRAND TOTAL	0523		0700			25.0	210.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.42

		(CI	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128899

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4173

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : KM SHIVANI GUPTA
Father's Name : KISHANLAL GUPTA
Mother's Name : SUMAN GUPTA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	38 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	47 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	41 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	42 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	53 18	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0454		0700			25.0	188.0
	GRAND TOTAL	0454		0700			25.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.52

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128900

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4174

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHILPA RANA Father's Name : TARSEM RANA

Mother's Name : KAVITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	53	23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49	21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59	26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	47	21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	36	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	198.5
								25.0	198.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-17

DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1. _____ 2. ____

(Clerk) (Assistant)

Banne

Roll No. 245128901

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4175

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AFROJ ALAM
Father's Name : ATARI RAI
Mother's Name : KOSHILI BEGAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	39 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	45 20	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	42 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	31 14	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	38 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	65	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	А	8	02.5	20.0
	TOTAL	0411		0700			25.0	176.0
	GRAND TOTAL	0411		0700			25.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.04

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128903

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4177

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ROJA GANAPATHIRAJU Father's Name : G VENKATAPATHIRAJU

Mother's Name : G B LAXMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	36	16		40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	40	18		40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	28	12	*	40AG	100	Р	4	04.0	16.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	32	14		40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	39	17		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	71			40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	53			40AG	100	В	6	02.5	15.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	48	17		40AG	100	A	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	20			20AG	050	Р	4		0
	TOTAL		0376			0700			25.0	151.0
	GRAND TOTAL		0376			0700			25.0	151.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.04

,	_	(Cle	 rk)	(4	Assistant)
Checked by	1.		2	2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			

Data of issue



Roll No. 245128904

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4178

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANKUR SINGLA
Father's Name : CHANDERBHAN
Mother's Name : BIMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0581		0700			25.0	231.5
	GRAND TOTAL	0581		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128905

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4179

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANAND
Father's Name : RAMKUMAR
Mother's Name : SAVITRI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51	22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49	21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86		40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	58	20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0550		0700			25.0	222.0
	GRAND TOTAL		0550		0700			25.0	222.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.88

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			2.	
		(Cl	erk)		(Assistant)



Roll No. 245128906

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4180

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARVESH KUMAR
Father's Name : KARAM SINGH
Mother's Name : BEENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	0	10	02.5	25.0
	TOTAL	0586		0700			25.0	238.0
	GRAND TOTAL	0586		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128907

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4181

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HITESH RANA
Father's Name : KARAM SINGH
Mother's Name : BEENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	89	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0563		0700			25.0	226.0
	GRAND TOTAL	0563		0700			25.0	226.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.04

DATED:	JUN 26,20)25								
KURUKSHETERA										
Checked by	1		2.							
		(Clerk)		(Assistant)						



Roll No. 245128908

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4182

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : NAVDEEP SINGH
Father's Name : PARMINDER SINGH
Mother's Name : SATWANT KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaiı	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	21	9	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	21	9	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	AB	23	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	AB	26	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	АВ	25	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83			40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79			40AG	100	A+	9	02.5	22.5
	TOTAL		*	**		0700			25.0	045.0
									25.0	45.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Bann

|--|

Roll No. 245128909

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4183

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : HARSH
Father's Name : GOPINDER
Mother's Name : KAMLESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47	21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57	25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	68		40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	21	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	196.0
								25.0	196.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-17

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHE	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245128910

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4184

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPSHIKHA -

Father's Name : NARENDER PAL SINGH Mother's Name : MAMTA CHAUHAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0564		0700			25.0	225.0
	GRAND TOTAL	0564		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128911

RESULT-cum-DETAILED MARKS CARD

24-DEO-4185 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : JIYA

: RAJAN KUMAR CHUG Father's Name

: VEENA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0562		0700			25.0	229.0
	GRAND TOTAL	0562		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128912

RESULT-cum-DETAILED MARKS CARD

24-DEO-4186 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ABHISHEK YADAV : VINOD KUMAR YADAV Father's Name

: GEETA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0539		0700			25.0	217.0
	GRAND TOTAL	0539		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

> DATED: JUN 26,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk)

(Assistant)

Roll No. 245128913

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4187

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : STUTI
Father's Name : VINOD
Mother's Name : AARTI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	57	40AG	100	B+	7	02.5	17.5
	TOTAL	0544		0700			25.0	225.5
	GRAND TOTAL	0544		0700			25.0	225.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.02

DATED:	JUN 26,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128914

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4188

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUDHIR SUDHIR

Father's Name : KULDEEP
Mother's Name : MEENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	36 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	30 13	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	56 19	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	44	20AG	050	0	10		0
	TOTAL	0457		0700			25.0	186.5
	GRAND TOTAL	0457		0700			25.0	186.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.46

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

Roll No. 245128915

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4189

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHOBHIT CHADHA
Father's Name : NARESH CHADHA
Mother's Name : SARITA CHADHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	45 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	44 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	28	20AG	050	B+	7		0
	TOTAL	0523		0700			25.0	209.0
	GRAND TOTAL	0523		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

		(Cle	erk)		(A	Assistant)	
Checked by	1			2			
KURUKSHET	ERA						
DATED:	JUN 26,2	025					

Data of issue



Roll No. 245128916

RESULT-cum-DETAILED MARKS CARD

24-DEO-4190 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : HARSH

: RAJINDER KUMAR Father's Name : KAMLESH DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	52 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	66 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	О	10		0
	TOTAL	0527		0700			25.0	218.5
	GRAND TOTAL	0527		0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

> DATED: JUN 26,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk)

(Assistant)

Roll No. 245128917

RESULT-cum-DETAILED MARKS CARD

24-DEO-4191 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAVI KUMAR VERODIYA

: DHARAM PAL Father's Name : SHEELA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44	19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	53	23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49	21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	168.0
								20.0	168.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128918

RESULT-cum-DETAILED MARKS CARD

24-DEO-4192 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAVINDRA SRIVASTAVA

: VIRENDRA PRATAP LAL SRIVASTAV Father's Name

: ASHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks		Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	35 15	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	36 16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	35 15	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	28 12	40AG	100	Р	4	04.0	16.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	28 12 *	40AG	100	Р	4	04.0	16.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66	40AG	100	Α	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	63	40AG	100	B+	7	02.5	17.5
	TOTAL	0361		0700			25.0	141.5
	GRAND TOTAL	0361		0700			25.0	141.5

RESULT: PASSED AND HAS OBTAINED: SGPA 5.66

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128919

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4193

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : PRACHI TAKKAR
Father's Name : SURINDER TAKKAR
Mother's Name : GEETU TAKKAR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	62	27	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	67	29	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58	25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	90		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	92		40AG	100	0	10	02.5	25.0
	TOTAL		0610		0700			25.0	238.0
	GRAND TOTAL		0610		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128920

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4194

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MAHI AGARWAL
Father's Name : RAHUL AGRAWAL
Mother's Name : SHIVANI AGARWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61	27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	49	21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53	23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	АВ	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	180.0
								20.0	180.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

		(0	Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245128921

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4195

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AARTI

Father's Name : RAM KRISHAN Mother's Name : PROMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
	TOTAL	0496		0700			25.0	206.5
	GRAND TOTAL	0496		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

		(Cler	k)	(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	025			

Data of issue

Banne

Roll No. 245128922

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4196

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : VIVEK KUMAR
Father's Name : VINOD PRASAD
Mother's Name : PUNAM DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	43	19		40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	AB	8	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	AB	AB	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	AB	AB	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	AB	AB	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL	***				0700			25.0	028.0
									8.0	28.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17

DATED:	JUN 26,2	2025										
KURUKSHETERA												
Checked by	1.			_ 2.								
		(Clerk)		(Assistant)							



Roll No. 245128923

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4197

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AKASH CHOPRA
Father's Name : MAHAVIR SINGH
Mother's Name : POOJA CHOPRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	o Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	44	19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	33	15	40AG	100	С	5	04.0	20.0
3	MCA-20-13 OPERATING SYSTEMS	44	19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39	17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	36	16	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	42	14	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	128.0
	1404.00.40							20.0	128.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1			_ 2	
		(CI	lerk)		(Assistant)



Roll No. 245128924

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4198

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRADEEP KUMAR
Father's Name : RAMASHRAY
Mother's Name : BIMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	77	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	70 24	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0571		0700			25.0	237.0
	GRAND TOTAL	0571		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	5			

Data of issue

Bann

CONTROLLER OF EXAMINATIONS

Roll No. 245128926

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4200

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MAYANK

Father's Name : RAMESH KUMAR Mother's Name : SITA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0571		0700			25.0	233.0
	GRAND TOTAL	0571		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Data of issue

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128927

RESULT-cum-DETAILED MARKS CARD

24-DEO-4201 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MUSKAN

: SURINDER KUMAR Father's Name

: RENU Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	45 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0521		0700			25.0	209.0
	GRAND TOTAL	0521		0700			25.0	209.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.36

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128928

RESULT-cum-DETAILED MARKS CARD

24-DEO-4202 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ALKA KUMARI

: KUNDAN KUMAR SHARMA Father's Name

: MANORMA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0566		0700			25.0	227.5
	GRAND TOTAL	0566		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128929

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4203

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANUJ KUMAR
Father's Name : RAM BILASH
Mother's Name : KANCHAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MCA-20-11 PROGRAMMING IN JAVA	AB	AB	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	АВ	AB	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	AB	AB	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	09	4	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	АВ	AB	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	АВ		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		**	**		0700			25.0	0.000
									4.0	0.0

RESULT: RE - TILL MAR- 2027 IN: FAIL

Data of issue

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2.	
		(Clerk)		(Assistant)

Banne

Roll No. 245128930

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4204

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAURAV GOYEL

Father's Name : BASANT KUMAR GOYEL

Mother's Name : URMILA GOYEL

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0553		0700			25.0	225.0
	GRAND TOTAL	0553		0700			25.0	225.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED : JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Banne

Roll No. 245128931

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4205

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HIMANSHU CHOPRA
Father's Name : MUKESH KUMAR
Mother's Name : BHARTI CHOPRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56	24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64	28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	38	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	188.0
								22.0	188.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128932

RESULT-cum-DETAILED MARKS CARD

24-DEO-4206 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PRINCE

: RAMESH SINGH Father's Name : SUSHILA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	44 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	43 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	А	8	02.5	20.0
	TOTAL	0518		0700			25.0	210.5
	GRAND TOTAL	0518		0700			25.0	210.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.42

DATED:	JUN 26,2025	
KURUKSHE	TFRΔ	

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128935

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4209

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SHIVAM KUMAR JHA
Father's Name : PREM CHANDRA JHA
Mother's Name : MADHAVI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0574		0700			25.0	229.0
	GRAND TOTAL	0574		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128936

RESULT-cum-DETAILED MARKS CARD

24-DEO-4210 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : TANISHA

: SALINDER KUMAR Father's Name

: RAJNESH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	A	8	02.5	20.0
	TOTAL	0536		0700			25.0	218.5
	GRAND TOTAL	0536		0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128938

RESULT-cum-DETAILED MARKS CARD

24-DEO-4212 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : GOVIND VERMA

: RAMESH KUMAR VERMA Father's Name

: KRISHANA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	65 28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0577		0700			25.0	231.5
	GRAND TOTAL	0577		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

(Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128939

RESULT-cum-DETAILED MARKS CARD

24-DEO-4213 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : AMIT SINIWAL : RAJESH SINIWAL Father's Name

: SUNITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49	21	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	176.0
								20.0	176.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128940

RESULT-cum-DETAILED MARKS CARD

24-DEO-4214 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : AKSHAY RAWAT

: SURENDER SINGH RAWAT Father's Name

: ASHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	46	20	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	АВ	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65	22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	180.0
								20.0	180.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1. (Clerk)

(Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245128942

RESULT-cum-DETAILED MARKS CARD

24-DEO-4216 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SIMRAN

: DHARMENDER Father's Name

: MEENA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	А	8	02.5	20.0
	TOTAL	0501		0700			25.0	202.5
	GRAND TOTAL	0501		0700			25.0	202.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.10

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128943

RESULT-cum-DETAILED MARKS CARD

24-DEO-4217 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SAMARTH SONI

Mother's Name

: BRIJESH KUMAR SONI Father's Name

: KIRAN SONI

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46	20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50	22	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53	23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	28	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	29	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	176.0
								25.0	176.0

MCA-20-16 MCA-20-17 RESULT: RE - TILL MAR- 2027 IN:

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128944

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4218

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NORANG LAL
Father's Name : BHAGAWANA RAM

Mother's Name : RAJA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55	24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	23	10 F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87		40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64	22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50		20AG	050	0	10		0
	TOTAL		***		0700			25.0	194.0
	1404.00.45							25.0	194.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-15

-		(Cle	rk)	(Assista	int)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



CONTROLLER OF EXAM	11NA LIONS
--------------------	------------

Roll No. 245128945

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4219

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BRIJRAJ SINGH
Father's Name : INDRAJEET SINGH
Mother's Name : GANGAJALI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	70	40AG	100	А	8	02.5	20.0
	TOTAL	0515		0700			25.0	210.5
	GRAND TOTAL	0515		0700			25.0	210.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128946

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4220

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : BHAVYA SHARMA
Father's Name : ANIL SHARMA
Mother's Name : ANJALI SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0562		0700			25.0	227.5
	GRAND TOTAL	0562		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245128947

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4221

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : KAJAL
Father's Name : RAJDEV
Mother's Name : MEERA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	71	40AG	100	A	8	02.5	20.0
	TOTAL	0542		0700			25.0	226.5
	GRAND TOTAL	0542		0700			25.0	226.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.06

·		(Clerk)	_	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128948

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4222

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : JANHAVI
Father's Name : RAJENDER
Mother's Name : POONAM DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0548		0700			25.0	217.0
	GRAND TOTAL	0548		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

CONTROL		VIIUNIC

Roll No. 245128949

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4223

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VIKASH KUMAR YADAV

Father's Name : SOHAN YADAV Mother's Name : SAMTOLIYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0554		0700			25.0	222.0
	GRAND TOTAL	0554		0700			25.0	222.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.88

		(CI	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Data of issue

Bann

Roll No. 245128950

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4224

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MANSHI SHARMA
Father's Name : DILIP SHARMA
Mother's Name : SEEMA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	28	12	*	40AG	100	Р	4	04.0	16.0
2	MCA-20-12 DATA STRUCTURES USING C++	54	24		40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49	21		40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55	24		40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	43	19		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82			40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76			40AG	100	A+	9	02.5	22.5
	TOTAL		0487			0700			25.0	193.0
	GRAND TOTAL		0487			0700			25.0	193.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.72

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128951

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4225

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : PARUL BALI
Father's Name : BRINDER KUMAR
Mother's Name : ALKA BALI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	28	12	*	40AG	100	Р	4	04.0	16.0
2	MCA-20-12 DATA STRUCTURES USING C++	24	11	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	21	9	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	20	9	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	19	9	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	АВ		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		*	**		0700			25.0	016.0
									20.0	16.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15 MCA-20-16 MCA-20-17

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128952

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4226

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARVEEN

Father's Name : SATISH CHANDER Mother's Name : KANTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	76	40AG	100	A+	9	02.5	22.5
	TOTAL	0539		0700			25.0	221.0
	GRAND TOTAL	0539		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

		(Cler	·k)	(Assistar	nt)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245128953

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4227

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ROHIT KUMAR
Father's Name : DEV KUMAR
Mother's Name : NITU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0581		0700			25.0	233.0
	GRAND TOTAL	0581		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128954

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4228

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SWEETI DEVI
Father's Name : RAGHBIR
Mother's Name : RAJESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0575		0700			25.0	229.0
	GRAND TOTAL	0575		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. ______
(Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245128955

RESULT-cum-DETAILED MARKS CARD

24-DEO-4229 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ANKUSH

: SUBHASH CHAND Father's Name

: SHEELA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	62 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68	40AG	100	А	8	02.5	20.0
	TOTAL	0558		0700			25.0	230.5
	GRAND TOTAL	0558		0700			25.0	230.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.22

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128956

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4230

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MD TANJIM Father's Name : MD AFAK

Mother's Name : ROSHANI KHATUN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0559		0700			25.0	223.5
	GRAND TOTAL	0559		0700			25.0	223.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.94

		((Clark)		(Accictant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	025				

Data of issue

Banne

CONTROLLER O	F EXAMINATIONS
--------------	----------------

Roll No. 245128957

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4231

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DIMPAL SHARMA
Father's Name : TRILOK CHAND
Mother's Name : YASHODA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	A	8	02.5	20.0
	TOTAL	0580		0700			25.0	237.0
	GRAND TOTAL	0580		0700			25.0	237.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.48

DATED:	JUN 26,2	025								
KURUKSHETERA										
Checked by	1			2.						
		(Cl	erk)		(Assistant)					



Roll No. 245128958

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4232

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SUPRIYA SINGH
Father's Name : SANTOSH SINGH
Mother's Name : SARITA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	o Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52	23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	48	21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50	22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	61	21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	172.0
	1404.00.40							20.0	172.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2025								
KURUKSHETERA									
Checked by	1		_ 2						
		(Clerk)		(Assistant)					

Data of issue

Banne

Roll No. 245128959

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4233

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : RAVI KUMAR
Father's Name : LALAN SINGH
Mother's Name : SAMUNDRI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22		40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	51 22		40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	51 22		40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	41 18		40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	40 18		40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	36 13		40AG	100	С	5		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50		20AG	050	0	10		0
	TOTAL		***		0700			25.0	152.0
								20.0	152.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128960

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4234

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HAPPY SAINI
Father's Name : MOHINDER SINGH
Mother's Name : SAROJ BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	63	40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	70	40AG	100	А	8	02.5	20.0
	TOTAL	0549		0700			25.0	225.5
	GRAND TOTAL	0549		0700			25.0	225.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.02

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128961

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4235

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SUNIL SINGH
Father's Name : PREM SINGH
Mother's Name : RANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	62	40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	63	40AG	100	B+	7	02.5	17.5
	TOTAL	0510		0700			25.0	211.0
	GRAND TOTAL	0510		0700			25.0	211.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.44

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245128962

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4236

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MITALI BHATIA
Father's Name : SANJIV BHATIA
Mother's Name : RUBY BHATIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	41 18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	74	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0525		0700			25.0	214.5
	GRAND TOTAL	0525		0700			25.0	214.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.58

		(Cle	erk)		(Assistant)	
Checked by	1.			2.		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



Roll No. 245128963

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4237

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AKSHIT KUMAR
Father's Name : SATAYWAN
Mother's Name : RAJBALA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	43 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	36 16	40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	34 15	40AG	100	С	5	04.0	20.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	45 20	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	39 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	74	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0439		0700			25.0	174.5
	GRAND TOTAL	0439		0700			25.0	174.5

RESULT: PASSED AND HAS OBTAINED: SGPA 6.98

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245128964

RESULT-cum-DETAILED MARKS CARD

24-DEO-4238 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MUKESH KUMAR

: NAND LAL Father's Name

: SHAKUNTLA RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	43 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
	TOTAL	0518		0700			25.0	213.0
	GRAND TOTAL	0518		0700			25.0	213.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.52

DATED:	JUN 26,2025	
KURUKSHE	ΓERA	

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245128966

RESULT-cum-DETAILED MARKS CARD

24-DEO-4240 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SUNIL

: SATYAWAN SINGH Father's Name

: SEELA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	66 29	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0594		0700			25.0	231.5
	GRAND TOTAL	0594		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128967

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4241

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HARSHIT DHAKA
Father's Name : TEJPAL SINGH DHAKA
Mother's Name : AMRESH DHAKA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0579		0700			25.0	239.5
	GRAND TOTAL	0579		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245128968

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4242

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : JYOTI RANI
Father's Name : DINESH KUMAR
Mother's Name : PINKI RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	71 24	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	44	20AG	050	0	10		0
	TOTAL	0574		0700			25.0	229.0
	GRAND TOTAL	0574		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 26,202	:5			



Roll No. 245128969

RESULT-cum-DETAILED MARKS CARD

24-DEO-4243 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : BALRAM KUMAR

: RAMCHANDRA PRASAD Father's Name

: KALAWATI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	39 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	47 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	44 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	44 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	40 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	A	8	02.5	20.0
	TOTAL	0460		0700			25.0	186.5
	GRAND TOTAL	0460		0700			25.0	186.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.46

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128970

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4244

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HEMANT SHARMA
Father's Name : RANVIR SHARMA
Mother's Name : ANITA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52	23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	43	19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	45	20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	42	18	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	44	19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	43		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	42		40AG	100	С	5	02.5	12.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	55	19	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		0410		0700			25.0	177.0
	GRAND TOTAL		0410		0700			25.0	177.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.08

		((Clerk)		(Assista	nt)
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245128971

RESULT-cum-DETAILED MARKS CARD

24-DEO-4245 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SURAJ SINGH

: DEVI SHANKAR SINGH Father's Name

: REKHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	38 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	43 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	35 15	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	38 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	39 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	39 13	40AG	100	В	6		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0434		0700			25.0	181.0
	GRAND TOTAL	0434		0700			25.0	181.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.24

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128972

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4246

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SAIMA SHAMIM
Father's Name : MD SHAMIM
Mother's Name : TASLIMA KHATUN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	90	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
	TOTAL	0589		0700			25.0	238.0
	GRAND TOTAL	0589		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Roll No. 245128973

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4247

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AKANKSHA KUMARI
Father's Name : UMA SHANKAR DAYAL
Mother's Name : PUNAM KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	68 23	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0594		0700			25.0	238.0
	GRAND TOTAL	0594		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128974

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4248

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : KARTHIK SANTOSH

Father's Name : SANTOSH Mother's Name : REKHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0571		0700			25.0	229.0
	GRAND TOTAL	0571		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			

Data of issue

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128975

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4249

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : LAKSHAY KAUSHIK
Father's Name : SURESH KAUSHIK
Mother's Name : SUDERSHAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	73	40AG	100	A	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	53 18	40AG	100	A	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46	20AG	050	0	10		0
	TOTAL	0499		0700			25.0	204.0
	GRAND TOTAL	0499		0700			25.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.16

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245128976

RESULT-cum-DETAILED MARKS CARD

24-DEO-4250 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : AVINASH PATEL

: VIMALA PRASAD SINGH Father's Name

: MALTI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	43 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	63	40AG	100	B+	7	02.5	17.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0534		0700			25.0	214.5
	GRAND TOTAL	0534		0700			25.0	214.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.58

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128977

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4251

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AADITYA KUMAR JHA Father's Name : ASHOK KUMAR JHA

Mother's Name : INDIRA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	Α	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0555		0700			25.0	217.0
	GRAND TOTAL	0555		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				

Banne

CONT	ROLLE	r of	EXAMII	NATIONS

Data of issue _____

Roll No. 245128978

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4252

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NAVIN PRAKASH
Father's Name : HARENDRA KUMAR
Mother's Name : NEELAM DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58	25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	01	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB	F	40AG	100	F	0	02.5	0
	TOTAL		***		0700			25.0	188.0
								22.0	188.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-16 MCA-20-17

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128979

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4253

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRIYA AWASTHI

Father's Name : RAM PRAKASH AWASTHI Mother's Name : POONAM AWASTHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0570		0700			25.0	235.5
	GRAND TOTAL	0570		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

		(Cler	k)	(Assi	stant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED :	JUN 26,2	2025			



|--|

Data of issue ____

Roll No. 245128981

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4255

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 $(\mathsf{CBCS\text{-}CDOE})$

Name : SIDDHARTH
Father's Name : SANDEEP KUMAR

Mother's Name : SHALU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	62 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	66	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	69	40AG	100	A	8	02.5	20.0
	TOTAL	0551		0700			25.0	228.0
	GRAND TOTAL	0551		0700			25.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.12

		(Clerk))	(Assistant))
Checked by	1		2.		
KURUKSHE	ΓERA				
DATED:	JUN 26,20	025			

Data of issue

Bann

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Roll No. 245128982

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4256

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KUNAL RANA
Father's Name : SANJEEV KUMAR
Mother's Name : MUNESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	74	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	65	40AG	100	A	8	02.5	20.0
	TOTAL	0527		0700			25.0	216.0
	GRAND TOTAL	0527		0700			25.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.64

		(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 26,2	025			



Roll No. 245128983

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4257

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : ABHISHEK LAYEK
Father's Name : ANUP KUMAR LAYEK
Mother's Name : NILIMA LAYEK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0567		0700			25.0	231.5
	GRAND TOTAL	0567		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128984

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4258

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PIYUSH JAANGID
Father's Name : MADAN PAL SINGH

Mother's Name : POONAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	AB	17	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	AB	23	F	40AG	100	F	0	04.0	0
3	MCA-20-13 OPERATING SYSTEMS	AB	11	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	AB	24	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	AB	17	F	40AG	100	F	0	04.0	0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	69			40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	37		F	40AG	100	F	0	02.5	0
	TOTAL		*:	**		0700			25.0	020.0
									25.0	20.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-12 MCA-20-13 MCA-20-14 MCA-20-15 MCA-20-17

·		(Clerk)	_	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2025				



Roll No. 245128985

RESULT-cum-DETAILED MARKS CARD

24-DEO-4259 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : PREETI

: SHIV SHANKER BANSAL Father's Name

: SARITA BANSAL Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	47 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	51 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	40 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	70	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0517		0700			25.0	206.5
	GRAND TOTAL	0517		0700			25.0	206.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.26

DATED:	JUN 26,2025	
KURUKSHE	TERA	

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245128986

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4260

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SURAJ

Father's Name : MAHENDER PARTAP Mother's Name : BADAMO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	48 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0529		0700			25.0	213.0
	GRAND TOTAL	0529		0700			25.0	213.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.52

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Banne

CONTROL		ATTONIC

Data of issue _____

Roll No. 245128987

RESULT-cum-DETAILED MARKS CARD

24-DEO-4261 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : JIYA

: MAHESH KUMAR Father's Name

: JYOTI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	61 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0566		0700			25.0	233.0
	GRAND TOTAL	0566		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128988

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4262

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMAN KUMAR SINHA Father's Name : SANJEEV KUMAR SINHA

Mother's Name : MALA SINHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	54 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	52 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	74	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	68	40AG	100	А	8	02.5	20.0
	TOTAL	0521		0700			25.0	216.0
	GRAND TOTAL	0521		0700			25.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.64

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 26,2	2025				



Roll No. 245128989

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4263

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MANISH YADAV Father's Name : JASWANT SINGH

Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0577		0700			25.0	231.5
	GRAND TOTAL	0577		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

		((Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245128990

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4264

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : NARENDER SINGH
Father's Name : UMED SINGH
Mother's Name : SUSHILA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0570		0700			25.0	233.0
	GRAND TOTAL	0570		0700			25.0	233.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.32

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128991

RESULT-cum-DETAILED MARKS CARD

24-DEO-4265 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : VIKAS

: ROSHAN LAL Father's Name

: SANTOSH KUMARI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	64 28	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0598		0700			25.0	239.5
	GRAND TOTAL	0598		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

> DATED: JUN 26,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245128992

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4266

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : DEEPA RANI
Father's Name : OM PARKASH
Mother's Name : KUSAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63	27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	53	23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77		40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72		40AG	100	А	8	02.5	20.0
	TOTAL		0554		0700			25.0	226.5
	GRAND TOTAL		0554		0700			25.0	226.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.06

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245128993

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4267

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : KAMALJEET KAUR
Father's Name : KASHMIR SINGH
Mother's Name : JAGIR KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	40 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	48 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	37 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	74	40AG	100	А	8	02.5	20.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	62	40AG	100	B+	7	02.5	17.5
	TOTAL	0438		0700			25.0	181.5
	GRAND TOTAL	0438		0700			25.0	181.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.26

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245128995

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4269

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRIYANKA
Father's Name : PARTAP
Mother's Name : SARITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	42 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	58 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	78	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	A	8	02.5	20.0
	TOTAL	0543		0700			25.0	218.5
	GRAND TOTAL	0543		0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
		((Clerk)		(Assistant)



Roll No. 245128996

RESULT-cum-DETAILED MARKS CARD

24-DEO-4270 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : GATREDDI BHARGAV

: GATREDDI GIRIDHARA RAO Father's Name : GATREDDI VENKATA LAKSHMI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	36 16	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	41 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	38 17	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	35 15	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	43 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	64	40AG	100	B+	7	02.5	17.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	55 19	40AG	100	A	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0421		0700			25.0	172.0
	GRAND TOTAL	0421		0700			25.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.88

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245128997

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4271

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MOHAMMAD SAIF ALAM
Father's Name : MOHAMMAD ZABBAR
Mother's Name : NASRIN SULTANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46 20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	50 22	40AG	100	A	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	46 20	40AG	100	A	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	44 19	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0497		0700			25.0	201.0
	GRAND TOTAL	0497		0700			25.0	201.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.04

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245128998

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4272

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VIKRAM TAKHAR
Father's Name : SHIV PRASAD TAKHAR

Mother's Name : KAMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	60 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	48 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	90	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	87	40AG	100	0	10	02.5	25.0
	TOTAL	0588		0700			25.0	238.0
	GRAND TOTAL	0588		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2	2025		
KURUKSHET	ERA			
Checked by	1.		 2.	

Banus

(Clerk)	(Assistant)	
		CONTROLLER OF EXAMINATION

Data of issue _____

Roll No. 245128999

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4273

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : LOVELY KUMAR
Father's Name : RAMPAL GOYAL
Mother's Name : DARSHANA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	39 17	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	44 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	36 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	47 21	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	42 18	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0466		0700			25.0	185.0
	GRAND TOTAL	0466		0700			25.0	185.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.40

DATED:	JUN 26,2025						
KURUKSHETERA							
Checked by	1		_ 2				
		(Clerk)		(Assistant)			

Data of issue

Banne

Roll No. 245129000

RESULT-cum-DETAILED MARKS CARD

24-DEO-4274 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SUNIL KUMAR

: RAMBRIKSH CHAURASIYA Father's Name

: SUSHILA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	52 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0564		0700			25.0	231.5
	GRAND TOTAL	0564		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245129001

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4275

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MOHD AHTESHAM IHRAZ
Father's Name : MOHD FEROZ AHMED
Mother's Name : MUNEEB ROOHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59	26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	57	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63	27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	43		40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	38	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63	22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	200.5
	MCA 20 17							25.0	200.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-17

Data of issue

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Banne

Roll No. 245129002

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4276

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : HARIOM
Father's Name : OMPARKASH
Mother's Name : SANTRA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	48 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0537		0700			25.0	217.0
	GRAND TOTAL	0537		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

DATED:	JUN 26,2	2025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245129003

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4277

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SATVIR KAUR
Father's Name : BHOLA SINGH
Mother's Name : SIMARJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	48 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	45 20	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	38 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	45 20	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	49 17	40AG	100	А	8		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0483		0700			25.0	202.5
	GRAND TOTAL	0483		0700			25.0	202.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.10

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245129004

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4278

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : RAVI KUMAR
Father's Name : MADAN LAL
Mother's Name : KAMLA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	53 23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	55 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	91	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	88	40AG	100	0	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	60 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0577		0700			25.0	234.0
	GRAND TOTAL	0577		0700			25.0	234.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.36

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245129005

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4279

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SACHIN UPMANYU

Father's Name : JAI KUNWAR Mother's Name : SAVITARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0589		0700			25.0	238.0
	GRAND TOTAL	0589		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

		(Clei	rk)	(Assistant)	
Checked by	1.		2	 	
KURUKSHET	TERA				
DATED:	JUN 26,2	2025			



Roll No. 245129006

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4280

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : FARHAN
Father's Name : SHAFIUDDIN
Mother's Name : SHABANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	63 27	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	86	40AG	100	0	10	02.5	25.0
	TOTAL	0587		0700			25.0	238.0
	GRAND TOTAL	0587		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245129007

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4281

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : KM ALIYA
Father's Name : QUASIM RAJA
Mother's Name : NOOR JHAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	35 15	40AG	100	В	6	04.0	24.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	49 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	43 19	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	84	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0495		0700			25.0	201.0
	GRAND TOTAL	0495		0700			25.0	201.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.04

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245129008

RESULT-cum-DETAILED MARKS CARD

24-DEO-4282 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : RAJAN GULATI

: PARMINDER SINGH GULATI Father's Name

: SANTOSH GULATI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	48 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	43 19	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	36 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	36 16	40AG	100	В	6	04.0	24.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	33 15	40AG	100	С	5	04.0	20.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	41 14	40AG	100	B+	7		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0450		0700			25.0	175.5
	GRAND TOTAL	0450		0700			25.0	175.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.02

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245129009

RESULT-cum-DETAILED MARKS CARD

24-DEO-4283 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : GAURAV SHASHIKANT SRIVASTAVA

: SHASHIKANT Father's Name

: MAYA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	43 19	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	40 18	40AG	100	B+	7	04.0	28.0
3	MCA-20-13 OPERATING SYSTEMS	37 16	40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	34 15	40AG	100	С	5	04.0	20.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	35 15	40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0445		0700			25.0	174.0
	GRAND TOTAL	0445		0700			25.0	174.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.96

DATED:	JUN 26,2025	
KLIBLIKSHET	FRΔ	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245129011

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4285

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : VISHAL REDDY Father's Name : BABUL REDDY

Mother's Name : SANGEETHA REDDY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	60 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
	TOTAL	0586		0700			25.0	239.5
	GRAND TOTAL	0586		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

		(Cler	k)	(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 26,20	025			

Banne

|--|

Roll No. 245129012

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4286

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SK SAKIBUL ISLAM
Father's Name : BAZLER RAHAMAN
Mother's Name : SAHIDA BIBI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	57 2	5	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	63 2	27	40AG	100	О	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	55 2	4	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 2	7	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	62 2	.7	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85		40AG	100	0	10	02.5	25.0
	TOTAL		0600		0700			25.0	242.0
	GRAND TOTAL		0600		0700			25.0	242.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.68

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)

Data of issue

Banne

Roll No. 245129013

RESULT-cum-DETAILED MARKS CARD

24-DEO-4287 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SHIKHAR SINGH : SANJAY KUMAR SINGH Father's Name

: REKHA SINGH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	60 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	О	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0582		0700			25.0	238.0
	GRAND TOTAL	0582		0700			25.0	238.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.52

DATED:	JUN 26,2025	
KURUKSHET	ERA	

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245129014

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4288

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : AMIT CHAUDHARY
Father's Name : JAI BHAGWAN
Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0577		0700			25.0	231.5
	GRAND TOTAL	0577		0700			25.0	231.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.26

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245129015

RESULT-cum-DETAILED MARKS CARD

24-DEO-4289 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : MOHAMMED ROMAAN SABIL

: MOHAMMED MASTAN Father's Name

: NAJMA NISHAT Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	46	20	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	52	23	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57	25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	58	25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56	24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	38	F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	38	F	40AG	100	F	0	02.5	0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	62	21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB	F	20AG	050	F	0		0
	TOTAL		***		0700			25.0	176.0
	1404.00.40							25.0	176.0

MCA-20-16 MCA-20-17 RE - TILL MAR- 2027 IN: RESULT:

> DATED: JUN 26,2025 KURUKSHETERA

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245129016

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4290

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANOJ KUMAR RASTOGI
Father's Name : BECHAN PRASAD RASTOGI
Mother's Name : LATE RADHA RASTOGI

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	i	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	18	8	F	40AG	100	F	0	04.0	0
2	MCA-20-12 DATA STRUCTURES USING C++	36	16		40AG	100	В	6	04.0	24.0
3	MCA-20-13 OPERATING SYSTEMS	36	16		40AG	100	В	6	04.0	24.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39	17		40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	36	16		40AG	100	В	6	04.0	24.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	AB		F	40AG	100	F	0	02.5	0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	AB		F	40AG	100	F	0	02.5	0
	TOTAL		***			0700			25.0	100.0
									20.0	100.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-11 MCA-20-16 MCA-20-17

		(Cle	rk)		(Assistant)	
Checked by	1		2	2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				

Data of issue

Banne

Roll No. 245129017

RESULT-cum-DETAILED MARKS CARD

24-DEO-4291 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : ADITYA SRIVASTAVA

: BIMLESH KUMAR SRIVASTAVA Father's Name

: REENA SRIVASTAVA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	53 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	57 25	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	55 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	80	40AG	100	A+	9	02.5	22.5
	TOTAL	0562		0700			25.0	227.5
	GRAND TOTAL	0562		0700			25.0	227.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.10

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245129018

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4292

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MEENU KUMARI

Father's Name : BALRAJ

Mother's Name : PARMILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56	24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55	24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47	21	40AG	100	Α	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59	26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51	22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88		40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78		40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	60	20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	46		20AG	050	0	10		0
	TOTAL		0551		0700			25.0	223.5
	GRAND TOTAL		0551		0700			25.0	223.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.94

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Banne

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245129019

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4293

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PRADEEP KUMAR
Father's Name : KAILASH NATH
Mother's Name : MAINA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	59 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	76	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	67	40AG	100	A	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	61 21	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	42	20AG	050	A+	9		0
	TOTAL	0561		0700			25.0	238.5
	GRAND TOTAL	0561		0700			25.0	238.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.54

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	TERA				
DATED:	JUN 26,20	25			

Data of issue

Banne

CONTROLLER OF EXAMINATIONS

Roll No. 245129020

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4294

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 $(\mathsf{CBCS\text{-}CDOE})$

Name : BHARAT
Father's Name : DESRAJ
Mother's Name : SHASHI BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	43 19	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	56 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	79	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0545		0700			25.0	217.0
	GRAND TOTAL	0545		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. ______ 2. _____ (Clerk) (Assistant)

Data of issue

Ranne

CONTROLLER OF EXAMINATIONS

Roll No. 245129022

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4296

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : MANAS KUMAR SINHA
Father's Name : MOTI MOHAN SINHA
Mother's Name : ANURUPA SINHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	41 18	40AG	100	B+	7	04.0	28.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	50 22	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	49 21	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0521		0700			25.0	211.5
	GRAND TOTAL	0521		0700			25.0	211.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.46

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245129023

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4297

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PARAS

Father's Name : NEERAJ GULATI Mother's Name : DIVYA GULATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	62 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	63 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	84	40AG	100	A+	9	02.5	22.5
	TOTAL	0591		0700			25.0	239.5
	GRAND TOTAL	0591		0700			25.0	239.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.58

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 26,2	2025				

Banne

CONTROLLER OF EXAMIN	1ATTOM:	5
----------------------	---------	---

Data of issue _____

Roll No. 245129024

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4298

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : FAIZAN

Father's Name : MD RAFAKAT ALI Mother's Name : ASMA BEGUM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	58 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	63 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	39 17	40AG	100	B+	7	04.0	28.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	65 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	48	20AG	050	0	10		0
	TOTAL	0557		0700			25.0	223.5
	GRAND TOTAL	0557		0700			25.0	223.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.94

DATED: JUN 26,2025

KURUKSHETERA

Checked by 1. _______ 2. ______
(Clerk) (Assistant)

Data of issue

Banne

Roll No. 245129025

RESULT-cum-DETAILED MARKS CARD

24-DEO-4299 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : SHEETAL

: DEVINDER SINGH Father's Name

: KAVITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	51 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	55 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	80	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	72	40AG	100	А	8	02.5	20.0
	TOTAL	0546		0700			25.0	218.5
	GRAND TOTAL	0546		0700			25.0	218.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.74

> DATED: JUN 26,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245129026

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4300

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : MANJEET SINGH

Father's Name : KRISHAN Mother's Name : ANITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	55 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	60 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	83	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0571		0700			25.0	229.0
	GRAND TOTAL	0571		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

		(Cl	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245129027

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4301

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : PUSHPENDER SINGH KUMAR

Father's Name : SANJEEV KUMAR Mother's Name : BALA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	49 21	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	47 21	40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	52 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	54 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	75	40AG	100	A+	9	02.5	22.5
	TOTAL	0528		0700			25.0	217.0
	GRAND TOTAL	0528		0700			25.0	217.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.68

		(Cle	erk)	(Assistant)	
Checked by	1.		2		
KURUKSHET	ERA				
DATED:	JUN 26,2	2025			



Roll No. 245129028

RESULT-cum-DETAILED MARKS CARD

24-DEO-4302 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : FAIZ UR REHMAN

: BABU KHAN Father's Name : GULZANA KHAN Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	54 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	59 26	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	59 26	40AG	100	0	10	04.0	40.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	66 29	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	60 26	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	85	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89	40AG	100	О	10	02.5	25.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	64 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	AB F	20AG	050	F	0		0
	TOTAL	0603		0700			25.0	246.0
	GRAND TOTAL	0603		0700			25.0	246.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.84

> DATED: JUN 26,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245129029

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4303

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : BHARAT KUMAR
Father's Name : PADAM SINGH
Mother's Name : SHEELA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	56 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	57 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	53 23	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61 27	40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	85	40AG	100	0	10	02.5	25.0
	TOTAL	0577		0700			25.0	234.0
	GRAND TOTAL	0577		0700			25.0	234.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.36

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245129030

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4304

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : ANU KAMAL
Father's Name : RAM NATH
Mother's Name : VEENA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	55 24	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	58 25	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	46 20	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	53 23	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	81	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	78	40AG	100	A+	9	02.5	22.5
	TOTAL	0543		0700			25.0	221.0
	GRAND TOTAL	0543		0700			25.0	221.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.84

DATED:	JUN 26,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245129031

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4305

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : FAZEEL AHMED
Father's Name : MAZZAFFER HUSSAIN
Mother's Name : NASEEM AKHTER

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	50 22	40AG	100	А	8	04.0	32.0
2	MCA-20-12 DATA STRUCTURES USING C++	56 24	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	50 22	40AG	100	А	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	73	40AG	100	А	8	02.5	20.0
	TOTAL	0524		0700			25.0	210.5
	GRAND TOTAL	0524		0700			25.0	210.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245129032

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4306

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : DIVYA PAHWA
Father's Name : VIPIN KUMAR
Mother's Name : HARSH KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59	26		40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	60	26		40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	15	7	F	40AG	100	F	0	04.0	0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61	27		40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	61	27		40AG	100	0	10	04.0	40.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	87			40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89			40AG	100	0	10	02.5	25.0
	TOTAL		***			0700			25.0	210.0
									25.0	210.0

RESULT: RE - TILL MAR- 2027 IN: MCA-20-13

		(Clerk))	(Assistant))
Checked by	1		2.		
KURUKSHET	TERA				
DATED :	JUN 26,2	025			

Bann

CONTROLLER OF EXAMINATIONS

Data of issue			
Data of issue			

Roll No. 245129033

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4307

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : SAKSHI THAKUR
Father's Name : KARTAR THAKUR
Mother's Name : SITA THAKUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53	23		40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	52	23		40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	49	21		40AG	100	А	8	04.0	32.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	00	18	F	40AG	100	F	0	04.0	0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	51	22		40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	82			40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	89			40AG	100	0	10	02.5	25.0
	TOTAL		***			0700			25.0	183.5
									25.0	183.5

RESULT: RE - TILL MAR- 2027 IN: MCA-20-14

		((Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 26,2	025				



Roll No. 245129034

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4308

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 $(\mathsf{CBCS\text{-}CDOE})$

Name : MANISHA
Father's Name : HARIPARSHAD
Mother's Name : RADHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	53 23	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	57 25	40AG	100	A+	9	04.0	36.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	61 27	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	56 24	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	77	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	83	40AG	100	A+	9	02.5	22.5
	TOTAL	0564		0700			25.0	229.0
	GRAND TOTAL	0564		0700			25.0	229.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.16

DATED:	JUN 26,20)25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245129035

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4309

MASTER OF COMPUTER APPLICATION SEM-01 EXAM : MAR- 2025 (CBCS-CDOE)

Name : RAJ SINGH
Father's Name : RAMDHAN RANA
Mother's Name : ANDRESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	58 25	40AG	100	A+	9	04.0	36.0
2	MCA-20-12 DATA STRUCTURES USING C++	64 28	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	56 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	59 26	40AG	100	0	10	04.0	40.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	57 25	40AG	100	A+	9	04.0	36.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	86	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	81	40AG	100	A+	9	02.5	22.5
	TOTAL	0589		0700			25.0	235.5
	GRAND TOTAL	0589		0700			25.0	235.5

RESULT: PASSED AND HAS OBTAINED: SGPA 9.42

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245129036

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4310

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : SONI KUMARI

Father's Name : SATYENDRA SHARMA Mother's Name : MANORMA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	31 14	40AG	100	С	5	04.0	20.0
2	MCA-20-12 DATA STRUCTURES USING C++	49 21	40AG	100	А	8	04.0	32.0
3	MCA-20-13 OPERATING SYSTEMS	42 18	40AG	100	B+	7	04.0	28.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	39 17	40AG	100	B+	7	04.0	28.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	50 22	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	42	40AG	100	С	5	02.5	12.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	53	40AG	100	В	6	02.5	15.0
	TOTAL	0398		0700			25.0	167.5
	GRAND TOTAL	0398		0700			25.0	167.5

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 6.70

DATED:	JUN 26,2025	
KURUKSHET	ERA	
Checked by	1.	2

(Clerk)

Banus

CONTROLL	FR OF	FYAMINA	Δ TI \cap NI \circ

Roll No. 245129037

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-4311

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR- 2025 (CBCS-CDOE)

Name : HEMANT SHARMA
Father's Name : RAM PRAKASH
Mother's Name : SHASHI PRABHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	28 12	40AG	100	Р	4	04.0	16.0
2	MCA-20-12 DATA STRUCTURES USING C++	28 12	40AG	100	Р	4	04.0	16.0
3	MCA-20-13 OPERATING SYSTEMS	52 23	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	54 24	40AG	100	A+	9	04.0	36.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	46 20	40AG	100	A	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	88	40AG	100	0	10	02.5	25.0
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	82	40AG	100	A+	9	02.5	22.5
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	60 20	40AG	100	A+	9		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0469		0700			25.0	183.5
	GRAND TOTAL	0469		0700			25.0	183.5

RESULT: PASSED AND HAS OBTAINED: SGPA 7.34

DATED:	JUN 26,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245129038

RESULT-cum-DETAILED MARKS CARD

24-DEO-4312 Regn. No.

MASTER OF COMPUTER APPLICATION SEM-01 EXAM: MAR-2025 (CBCS-CDOE)

Name : HIMANSHU

: MUKUND PRASAD Father's Name

: SAPNA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MCA-20-11 PROGRAMMING IN JAVA	59 26	40AG	100	0	10	04.0	40.0
2	MCA-20-12 DATA STRUCTURES USING C++	61 27	40AG	100	0	10	04.0	40.0
3	MCA-20-13 OPERATING SYSTEMS	54 24	40AG	100	A+	9	04.0	36.0
4	MCA-20-14 DATA COMMUNICATION AND COMPUTER NETWORKS	51 22	40AG	100	A	8	04.0	32.0
5	MCA-20-15 OBJECT-ORIENTED ANALYSIS AND DESIGN USING UML	49 21	40AG	100	А	8	04.0	32.0
6	MCA-20-16 PROGRAMMING IN JAVA-LAB	79	40AG	100	A+	9	02.5	22.5
7	MCA-20-17 DATA STRUCTURES USING C++-LAB	74	40AG	100	А	8	02.5	20.0
8	MCA-23-11 COMP.FUNDAM.& PROBLEM SOLVING THROUGH C	63 22	40AG	100	0	10		0
9	MCA-23-12 S/W LAB BASED On MCA-23-11	50	20AG	050	0	10		0
	TOTAL	0547		0700			25.0	222.5
	GRAND TOTAL	0547		0700			25.0	222.5

RESULT: PASSED AND HAS OBTAINED: SGPA 8.90

> DATED: JUN 26,2025 KURUKSHETERA Checked by 1.

(Clerk) (Assistant)

